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Tuesday, February 6, 2007


‑‑‑ Upon commencing at 9:31 a.m.


MR. KAISER:  Please be seated.  Mr. Cass.


PRELIMINARY MATTERS:

MR. CASS:  Mr. Chair, if I might, I have two preliminary matters to address this morning.  The first is just an item arising out of yesterday.  Mr. Boyle gave an undertaking that was given, Undertaking No. J6.1, and I believe that the answer to that is available.  It's either been passed around or it is available to be passed around.


The second matter, Mr. Chair, has to do with the schedule, if I might have the Board's indulgence and address a few comments to that.


We currently have the two panels under way, the equity thickness panel that is here this morning and the panel that started yesterday afternoon.  I think it's the expectation, based on time estimates, that both of those will be completed today.  The next panel on the schedule, which is scheduled to appear on Thursday, would deal with open bill issues and EnergyLink issues.


As the Board will recall, those are matters that have been the subject of a consultative.  The discussions of the consultative have reached a point where -- I always hesitate to use the word "close", but it's very close to having a resolution not of all issues, Mr. Chair, I should emphasize, but of the open bill issues that would be addressed by that panel.  


So the difficulty is that the next panel that will come up after today is one in respect of which the parties are quite close to completing a settlement.


What I wanted to propose to the Board, if it meets the Board's convenience, would be that perhaps, in addition to not sitting tomorrow, that we not sit on Thursday when that panel is scheduled to appear.  The time in between could be very usefully used to try to pull together the settlement on the open bill issue, if that can be achieved.


As well, I can tell the Board that the parties are working on wording of a settlement arising out of the customer care CIS consultative.  The time between now and Friday could also be used, I think very valuably, to complete the wording of that, as well.


And that will, of course, be a very major accomplishment that the parties hope to be able to provide to the Board by way of a means of resolution of customer care and CIS issues.


Others here may wish to comment on some of this.  I haven't been as directly involved in the open bill consultative as other parties, so they may wish to add their thoughts on that.


MR. KAISER:  Thank you.  Mr. Shepherd, anything on this?


MR. SHEPHERD:  Yes.  Mr. Chairman, I would add I agree with Mr. Cass.  In both cases, we're at the drafting of wording phase, which doesn't mean that there's a deal yet, but it means that it's harder not to have a deal once you're drafting the actual wording.


And I think it's fair to say that the extra day would give us a chance to sit in a room and hash things out in both cases.  So I think it would be time well spent, Mr. Chairman.


MR. KAISER:  Thank you.  Mr. Thompson.


MR. THOMPSON:  I agree with the sentiments that have been expressed.  The only point I would add by way of caution is that some of us are under considerable stress trying to meet the Thursday deadline for the NGEIR factums, and so that will affect the availability of Mr. Warren and myself, to some degree, with respect to the CIS customer care discussions, but I agree we should be taking the time available to get these things across the finish line, if we can.


MR. KAISER:  All right.


MR. MILLAR:  Mr. Chair, if I could just ask a clarification question of Mr. Cass.  In the event that we don't sit Thursday, I guess we'll be back on Friday, and if there's no settlement on open bill, I assume we would go with the open bill panel on Friday; is that right?


MR. CASS:  Yes, that continues to be the plan, Mr. Millar.  Then the next panel would be the open bill and EnergyLink panel, depending on what issues there are for that panel to address.


MR. MILLAR:  And if that issue is settled, what will we do on Friday?


MR. CASS:  Again, Mr. Millar, I should make very clear there is no contemplation that all of the matters to be addressed by that panel would be resolved.


MR. MILLAR:  I see.


MR. CASS:  The discussions that are at a very advanced stage relate to the open bill proposal, and that is a very important part of what the panel is addressing, but not all of what the panel is addressing.


MR. MILLAR:  Okay, so that panel will be up regardless?


MR. CASS:  Regardless.


MR. MILLAR:  Thank you, Mr. Cass.


MR. VLAHOS:  And, Mr. Cass, on the corporate cost allocation issue, are those discussions ongoing?


MR. CASS:  I believe that is the case, Mr. Vlahos. Unfortunately, as the Board will recall from the settlement proposal, there is a report that parties have been awaiting. The last I heard, that report was -- I'm now told the next draft of that report is expected Friday.


MR. VLAHOS:  Thank you.


MR. KAISER:  All right.  Well, on the basis of those submissions, it seems that the logical thing to do is stand down Thursday and see if this matter can move along towards settlement.  Thank you, Mr. Cass.


MR. CASS:  That's all the preliminary matters I had, Mr. Chair.


MR. KAISER:  All right.  Where were we in the cross‑examination of this panel?


MR. THOMPSON:  I think I'm next.


MR. KAISER:  All right.


ENBRIDGE GAS DISTRIBUTION INC. - PANEL 5; RESUMED


Paul Carpenter; Previously Sworn


Brad Boyle; Previously Sworn


Joel Denomy; Previously Sworn

CROSS‑EXAMINATION BY MR. THOMPSON:

MR. THOMPSON:  Thank you, Mr. Chairman.  Panel, I represent the Industrial Gas Users Association.  My name is Peter Thompson.  


If I could just begin, Mr. Boyle, with a question about Undertaking No. J6.1 which you filed this morning.  Is there some reason why 2006 is not on this schedule?


MR. BOYLE:  I don't have the final information for 2006 on that year at this point, and that was not part of table 4, as well, so I focussed on updating table 4.


MR. THOMPSON:  Sorry, I was looking at table 4, actually on page 19 of Exhibit E1, tab 1, schedule 1, and it does have 2006.  That's why I asked the question.


MR. BOYLE:  Sorry, you are correct.  It is there, but I do not have the final information on that year from the actual ROE.


MR. THOMPSON:  Will that information be available soon?


MR. BOYLE:  I don't believe so, no.


MR. THOMPSON:  So if I asked you for an undertaking to complete this schedule with 2006, when could that be done, approximately?


MR. BOYLE:  I would have to talk to the regulatory group.  It depends when they do the regulatory calculations. 


MR. THOMPSON:  All right.  Could you do that and get back to that question by way of undertaking responses to when it could be done?


MR. BOYLE:  Sure.  I could do that.


MR. MILLAR:  J7.1.


MR. THOMPSON:  Thank you.


MR. MILLAR:  And, Mr. Thompson, that's just to add the year 2006 to undertaking J6.1; is that right?


MR. THOMPSON:  Yes.


MR. MILLAR:  Thank you.


UNDERTAKING NO. J7.1:  TO PROVIDE ADDITIONAL YEAR 


2006 TO UNDERTAKING J6.1

MR. THOMPSON:  It's actually to inform us when that could be done.


Thank you.  Okay, thanks.  


Now, panel, I'd like to start, if I might, Mr. Boyle, with the same exhibit, Exhibit E2, tab 1, schedule 1, at page 26.  Do I correctly interpret this table to mean - and I'm looking at line 4 in the last column - that if your claim for a thickening of equity beyond 35 percent is not allowed, then the reduction in the requested revenue deficiency is about $9.5 million?


MR. BOYLE:  That's correct.


MR. THOMPSON:  Now, is that number still valid or has it changed since this evidence was filed?


MR. BOYLE:  It is essentially still valid.  However, there was an update to that table effectively provided at Exhibit E2, tab 1, schedule 3, page 2 of 3.  But the 9.5 million is essentially the same number in this case.


MR. THOMPSON:  And the line 3, which is scenario B, am I correct that if the Board were to increase the equity thickness from 35 percent to 36 percent, the reduction in the revenue deficiency claimed that would ensue would be about $5.9 million?


MR. BOYLE:  That's correct.


MR. THOMPSON:  Thank you.  Now, there was some discussion yesterday with, I believe it was with Mr. Janigan.  Did I correctly understand that the company agrees that the ROE, the return on equity, and its components are not in issue in this case?


MR. BOYLE:  That's correct.


MR. THOMPSON:  The ROE is determined by a Board formula; is that correct, Mr. Boyle? 


MR. BOYLE:  Yes, it is.


MR. THOMPSON:  Would you agree with me that the Betas associated with EGD's utility securities are covered by that ROE formula?  That's one of the matters that's embedded in the risk premium methodology?


MR. BOYLE:  Yes, it is.  That's fair.


MR. THOMPSON:  Does it follow, then, that whatever Betas have to do with EGD's risk have been taken into account in the ROE formula?


DR. CARPENTER:  If I could comment on that, Mr. Thompson.  Beta is a measure of equity risk.  When I referred to Betas of US companies yesterday, which I think is probably where your question is going, I was using that measure as an example of a measure that shows that distribution companies are not riskless or of extremely low risk, as Dr. Booth asserted in his testimony.


That goes to the issue of business risk, which Canadian regulators, as I understand it, have traditionally dealt with as well in the equity thickness area. However, I will grant you that when one does a full-blown cost of capital study, which looks at both ROE and equity thickness, Betas are an important part of the equity risk premium method.


MR. THOMPSON:  Right.  And -- well, are you agreeing with me or disagreeing with me, Mr. Carpenter?  Under the methodology that the Board applies, do you agree that whatever Betas have to do with EGD's risk is taken into account in the ROE calculation?


DR. CARPENTER:  The methodologies that establish the ROE for the benchmark utility when the Board's formula was established did employ Betas for the equity risk premium method.  I'm agreeing with you to that extent.  But I'm also saying that Beta is also a measure of risk for business risk purposes, from an equity investor's perspective, and that that evidence is relative with respect to equity thickness as well.


MR. THOMPSON:  Would you agree with me, Mr. Carpenter, that  you're not normally the witness from the Brattle Group that speaks to Betas; that's normally Mr. Kolbe and Mr. Vilbert?


DR. CARPENTER:  That has been the case for the last few years in the US and Canada.  They're very much specialists in that area.  I have testified with respect to those methods in US and an Australian regulatory context, and in fact my doctoral dissertation dealt effectively with that topic, so I'm pretty well versed in it.


MR. THOMPSON:  But when the Brattle group has testified in Canada on rate-of-return matters, am I correct that the evidence with respect to Betas has not come from you, it has come from Drs. Kolbe and Vilbert?


DR. CARPENTER:  In the last few years; that's correct.


MR. THOMPSON:  Now, have you ever testified for EGD before, Mr. Carpenter?


DR. CARPENTER:  No, I have not.


MR. THOMPSON:  Do you know who has provided the evidence for EGD with respect to EGD's business risks in prior years?


DR. CARPENTER:  No, I don't.  My understanding is that business risk evidence per se has not been before the Board since about 1993.


MR. THOMPSON:  Do you know Kathleen McShane?


DR. CARPENTER:  I know of her.  Yes.


MR. THOMPSON:  Were you aware that she appeared on behalf of EGD and Union in a generic rate of return proceeding before this Board that was held in 2003?


DR. CARPENTER:  Yes, I am aware of that.


MR. THOMPSON:  All right.  And did you review the evidence that she filed on behalf of EGD and Union in that case?


DR. CARPENTER:  No, I did not, but I did review the Board's decision in that case and its summary of her evidence.


MR. THOMPSON:  Did you review the examination of Ms. McShane in that case with respect to business risks and other matters?


DR. CARPENTER:  I did not.


MR. THOMPSON:  Did you review the Board's decision with respect to the position taken on business risks in that particular case?


DR. CARPENTER:  I did.


MR. THOMPSON:  Do you have a copy of it there with you?  This is the RP-2002-0158 decision and order of the Board, dated January 16, 2004.


MR. MILLAR:  Would you like this marked as an exhibit, Mr. Thompson?


MR. THOMPSON:  I would.  I don't have copies, but I believe this was part of counsel for Schools' handouts.  I don't know, have they been marked previously.


MR. MILLAR:  I think these haven't been marked yet, but I do have copies.  Mr. Shepherd and Mr. DeVellis, do you object to these going in now?


MR. DE VELLIS:  No.  I provided this on Friday afternoon.  I think I provided copies to EGD and the witnesses.


MR. MILLAR:  But they haven't been marked; is that right?


MR. DE VELLIS:  No, I don't believe they have. 


MR. MILLAR:  And, panel, you don’t have the copies?  We’ll bring them up.  We'll call this K7.1.


EXHIBIT NO. K7.1:  DECISION AND ORDER OF THE BOARD IN 


RP-2002-0158

MR. THOMPSON:  Thank you very much.


You will see, Mr. Carpenter, that this was a decision of panel members Mr. Vlahos, Mr. Betts and Mr. Sommerville?  You see that, do you?


DR. CARPENTER:  Yes.


MR. THOMPSON:  If you would go to paragraph 114 of the decision, this is in the section entitled "Board Findings".  You will see a sentence there as follows:

"There is no claim that the utility risk per se has increased."


Do you see that?


DR. CARPENTER:  I do see that.


MR. THOMPSON:  Did you note that before when you were reviewing the decision?


DR. CARPENTER:  Yes, I noted that, and then I also noted paragraph 128, which is relevant to this topic, in which the Board states that the business risk issue was not before the Board and that:

"Ms. McShane confirmed that business and other risks covered by the equity component of capital structure were not matters at issue in this hearing."


MR. THOMPSON:  Right.  Well, that's fine.  I put it to you that it was acknowledged in those proceedings that there was no material change in business risk to justify a claim on that ground.


MR. CASS:  Excuse me, Mr. Chair.  I'm not sure how Dr. Carpenter could respond to that question, given that he was not involved in the particular proceeding that Mr. Thompson is referring to.


MR. THOMPSON:  That's a fair criticism.


MR. CASS:  I don't know whether Mr. Boyle would be able to respond to it or not.


MR. KAISER:  No, I think Mr. Thompson accepts your point.


MR. THOMPSON:  Let me put it to you this way, Mr. Boyle.  Was it acknowledged by EGD in that proceeding that there were no changes in business risk sufficient to justify an increase in equity ratios at that time?  Have you reviewed the record?


MR. BOYLE:  I have reviewed this decision, and essentially I would agree with Mr. Carpenter.  As it states here, it seems to me that that was not an issue in the hearing, so it wasn't addressed whether there was or was not a change.  In my mind, it was not being discussed, because it was a focus on the return on equity as an issue in that case.


In this case, we're focussing on equity thickness and not return on equity.


MR. THOMPSON:  Did you review the record, sir, in terms of the evidence that was given and the responses to undertakings, on that point, and the arguments that were made?


MR. BOYLE:  No, I did not.


MR. THOMPSON:  Would you undertake to do that and ascertain whether it was acknowledged by EGD that there were no changes in business risk sufficient to support a claim on that ground?


MR. BOYLE:  I can undertake to do that, yes.


MR. THOMPSON:  Thank you.


MR. MILLAR:  J7.2, and I think that's been summarized by Mr. Thompson already.


UNDERTAKING NO. J7.2:  TO REVIEW EVIDENCE OF 


RP-2002-0158 AND CONFIRM WHETHER THERE WERE CHANGES IN 


BUSINESS RISK SUFFICIENT TO JUSTIFY AN INCREASE IN 


EQUITY RATIOS.

MR. THOMPSON:  Thank you.  Now, Mr. Carpenter, your evidence, as I understand it, is based on your perception of a change in business risks from 1993 to 2006; is that correct?


DR. CARPENTER:  That's correct.


MR. THOMPSON:  And would you agree with me that there's been no material change in business risks between the end of 2000 ‑‑ EGD's business risks between the end of 2003 and 2006?


DR. CARPENTER:  Well, I think it's difficult to make those kinds of fine year-on-year distinctions.  I think there's been a lot of increase in volatility since 2003 that you can see, but I would acknowledge that there was less change in business risk in the last three years than from the prior decade.


MR. THOMPSON:  All right.  Well, just on the volatility point, there is a chart, I think, in Exhibit E2, tab 1, schedule 1 at page 6, and there may well be charts, similar charts, in your evidence, Mr. Carpenter.


But if I look at the situation between '03 and '06, does that chart tell me there's an increase in volatility?  It appears to me that things were volatile starting in about '01, and they're still volatile.


DR. CARPENTER:  So, I'm sorry, you're looking at figure 1 of the company evidence?


MR. THOMPSON:  Yes, I am.


DR. CARPENTER:  It's hard to evaluate volatility per se, from that chart alone.  I would ‑‑ I mean, I would direct you to figure 2 on page 11 of my evidence.  This is NYMEX's future data.  So it has the advantage of being somewhat smoothed, from a seasonal point of view, because you're looking at a forward strip, a 12‑month strip.  


And there I think you can see -- you know, post-2003, you see a lot of volatility.  I haven't measured the standard deviation over that period.  I could do that.  I wouldn't be surprised if the standard deviation increased, which is the measure of volatility.


MR. THOMPSON:  All right.  One of the topics that you mention in your risk analysis is the risk of bypass; is that correct?


DR. CARPENTER:  Yes.


MR. THOMPSON:  Are you aware of the rate remedies that EGD proposed and the Board approved in the NGEIR proceedings with respect to bypass?


DR. CARPENTER:  I am aware generally that there are rate remedies available for bypass situations.  I'm not ‑‑ I'm not familiar with all of the details of EGDI's, but that's a common form of risk mitigation, bypass risk mitigation.


I have to say, however, that if you're an equity investor and you are looking at a utility that has bypass risk, you can't always assume that the regulatory remedy is going to solve the problem.  You're looking at ‑‑ it's a matter of probabilities.  It's a matter of uncertainty and future likelihood.


So while there are potential forms of rate mitigation, you can't always be certain that they will be implemented and successful.


MR. THOMPSON:  Do you know precisely what EGD's rate mitigation measure for future bypass is?


DR. CARPENTER:  Not specifically, no.


MR. THOMPSON:  Well, if I told you the bypasser would get a cost‑based rate for the cost of connecting to the system, that's as good as it gets, isn't it?


DR. CARPENTER:  Well, that's about the best that a utility could offer.  That doesn't necessarily mean that the bypass ‑‑ that there are maybe other reasons that the bypasser will go with a competitor.  I mean, over the last ten years we've seen a ton of bypass of utility companies in North America, by power generators and industrial customers and others, where all of those utilities had rate mitigation approaches available to them.  But we've seen bypass occur, because people want competition.


MR. THOMPSON:  I'd like to move to another topic, which is the extent to which weather risk is relevant to the equity thickness issue, and in that context -- and there was some discussion of this yesterday with Mr. Janigan, I believe. 


I'd like you to turn up VECC 53, which is Exhibit I, tab 24, schedule 53, and I guess this question would be for you, Mr. Boyle or Mr. Denomy, since you're responsible for this interrogatory response.


Could you explain to me the first ‑‑ what you mean in the first sentence of (c) here:

"Enbridge Gas Distribution is not asking to be compensated for bearing weather risk as the rate of return on common equity is not an issue in this case."


What does that mean?


MR. BOYLE:  Well, again, focussing on the issue that the compensation for EGD tended to be in the return on equity and that was not an issue in the case.


MR. THOMPSON:  All right.  So that ‑‑ it goes on and says:

"The company is identifying the fact that it is subject to weather risk and that this does have an impact on its actual credit profile and a significant impact on its actual ability to access capital markets and meet its financial covenants."


Do I correctly interpret the answer to this interrogatory to mean that weather risk only comes into this question of equity thickness if it has an effect on your credit profile?  


MR. BOYLE:  Not entirely.  It also affects your business risks, which is also part of equity thickness, but the intent was to point out that we agree that weather risk is largely a factor to be addressed in equity thickness, not with respect to ROE, per se.


MR. THOMPSON:  Sorry, weather risk is ROE and...


MR. BOYLE:  No, sorry.  The reverse.  Weather risk is a business risk that affects your equity thickness.  It also affects your credit profile, which affects your equity thickness.  So in both cases it's a factor that influences your equity thickness.


MR. THOMPSON:  What does the first sentence mean, then?  It seems to me you're contradicting what that sentence says; not asking to be compensated for bearing weather risk as the rate of return on common equity is not an issue in this case.  That sentence to me means weather risk falls within the ambit of the rate of return on common equity.  Is that what it says?


MR. BOYLE:  That's not what I intended it to say or read as.  That's not my interpretation.  The focus is that it's not intended to link weather risk to ROE, because ROE is not an issue, but it does affect the equity thickness, certainly, and business risk as well and the credit profile.


The three things that are related are the equity thickness, the credit profile, and weather.  ROE is not one of the factors that is being assessed in that group.


MR. THOMPSON:  It appears that you have weather permeated throughout your company's case here; it is a factor with respect to degree-day forecasting, you would agree?


MR. BOYLE:  Yes.


MR. THOMPSON:  You indicated yesterday to Mr. Adams that rate design features can mitigate weather risk?


MR. BOYLE:  Yes.


MR. THOMPSON:  Correct?  He took you through a number of those.  Let's look, then, to credit profile, and I'll come to that in just a minute.  But there's one other question I wanted to take you to, Mr. Boyle, in the prefiled, and that's question 10 of Exhibit E2, tab 1, schedule 1, which is on page 4, I believe.


In this testimony you say, and I'm quoting:

"For a gas distribution utility, business risk  ultimately relates to the utility's ability to recover its investment in its assets or rate base while at the same time achieving its allowed return on equity and maintaining a sufficient level of protection to meet fixed charges and debt covenants."


Do you see that?


MR. BOYLE:  Yes, I do.


MR. THOMPSON:  Do you agree with that statement, Mr. Carpenter?


DR. CARPENTER:  I do.


MR. THOMPSON:  Thank you.


Let me put this hypothetical to you, Mr. Boyle, and, Mr. Carpenter, don't hesitate to jump in if you wish.


We have two utilities that are reasonably comparable, with their rates set annually on the basis of a prospective test year.


One recovers its investment in assets more quickly than the other because its depreciation rate is higher than the rate of the other utility.


Is the utility with the higher depreciation rate less risky?


DR. CARPENTER:  I'll start, and Mr. Boyle can supplement this if he wants.


The answer is no, in my opinion.  While depreciation is the method by which investment is recovered, it's the return of investment.  You can have two utilities whose assets have two different lifetimes associated with them.  Say one might be 20 years, one might be 30 years of economic lifetime.  They would have different depreciation rates.  But over the long-term horizon, the risks that equity investors would face of that return occurring and the return on investment happening would be the same.  


This was an issue that came before the NEB in the last TransCanada case, as you probably recall.  And there TransCanada had recently increased its depreciation rate, and was Board-approved.  The question was, did that reduce TransCanada's risk.


And the answer to that was no, because the depreciation rate was still based on the economic lifetime of TransCanada's assets.  I commend to you page 46 of the Board's decision in that case, RH2-2004, where a clear separation between depreciation and risk was indicated, and that logic is exactly correct.


MR. THOMPSON:  Well, don't change my example.  We have two utilities that are reasonably comparable.  I'm not suggesting an illustration where one has got a shorter life of assets than the other.


Were two Enbridges, let's say or similar to Enbridges, let's say, gas-distribution companies - let's take Union and Enbridge as illustrative.  I put it to you that the one with the higher depreciation rate is likely to be perceived as being less risky than the utility that has a lower depreciation rate.  Would you agree?


DR. CARPENTER:  I would not agree, and it gets back to economic lifetime.


The reason that their depreciation rates are different is because perhaps they have different economic lifetimes of remaining lives on their assets.  It's not that they're recovering necessarily any faster; it may be just that the lifetime is lower, is shorter.


MR. THOMPSON:  You're aware that Enbridge has a large residential customer base, are you?


DR. CARPENTER:  Yes.


MR. THOMPSON:  Would you agree that the economic lifetime of a utility serving that kind of customer profile is longer than the economic lifetime of a utility serving industrial customers exclusively, for example?  


DR. CARPENTER:  I wouldn't agree, because it depends on the vintage of the assets, how new they are, because depreciation is all about the remaining economic lifetime.  There are a lot of factors that go into determining a depreciation rate, and you can't just compare across utilities and make generalized statements.


As long as the depreciation rate is set to recover investment over the remaining economic life of the assets, there would be no effect on business risk between the two utilities in your example.


MR. THOMPSON:  Do rating agencies use earnings before income taxes and depreciation to measure the credit profile of companies?


MR. BOYLE:  It is a measure they do use for some things, yes, but it's not a very common measurement or that they focus a lot on.  But it is a measure that is looked at, yes.


MR. THOMPSON:  Well, is it used by Standard & Poor's?


MR. BOYLE:  It would be used by all credit analysts.  Credit analysts look at all sorts of metrics for a utility or any company that they're rating, and that would be one for certain purposes, yes.


MR. THOMPSON:  Is it used by Standard & Poor's to evaluate EGD?


MR. BOYLE:  It would be used by all the agencies, yes.


MR. THOMPSON:  I'll come back to that in a moment.


Do you know, Mr. Boyle, the difference between EGD's depreciation rate and Union's?  You should because I provided a letter and some documents to you explaining what it is last week.


MR. BOYLE:  Yes, I have read through that.


MR. THOMPSON:  Perhaps I could mark these, Mr. Millar.


MR. MILLAR:  Exhibit K7.2, Mr. Chair.  This is a letter from Mr. Thompson to Mr. Cass dated February 2, 2007. 

EXHIBIT NO. K7.2:  LETTER FROM MR. THOMPSON TO


MR. CASS DATED FEBRUARY 2, 2007.

MR. THOMPSON:  If I could just get these numbers on the record, Mr. Boyle, if you just go to the -- start, if we could, with your company's evidence.  And I've described these references in the letter.  


If you wouldn't mind turning up Exhibit D1, tab 13, schedule 1, page 3.  Does that come up on the screen if 

I --


MR. MILLAR:  Could we have that reference again, Mr. Thompson?


MR. THOMPSON:  Yes, Exhibit -- 


MR. MILLAR:  There we go.


MR. THOMPSON:  Yes, that was it.


It's on the screen there, as well, Mr. Boyle.


MR. BOYLE:  Yes, I've got that.


MR. THOMPSON:  Okay.  And you'll see at line 7 in column 4, the overall depreciation rate for EGD is 4.56 percent.  Do you see that?


MR. BOYLE:  Yes, I do.


MR. THOMPSON:  And that consists of a rate for distribution plant which, in column 4, at line 1, you'll see is about $189.8 million.  Do you see that?


MR. BOYLE:  Yes, I do.


MR. THOMPSON:  And would you take, subject to check, that if you express that provision as a proportion of the midpoint of depreciable plant in columns 1 and 2, the rate is about 4.24 percent?  Would you take that subject to check?


MR. BOYLE:  Yes, I would.


MR. THOMPSON:  Okay.  And then on the general plant, line item 2.12, if you express the $33.9 million as a proportion of the midpoint of the depreciable plant shown in columns 1 and 2, you would get a rate of about 13 percent?


MR. BOYLE:  Yes, I agree.


MR. THOMPSON:  And that's subject to check.  Thank you. And that, then, produces the composite rate of 4.56 percent.


If you now go to Exhibit K7.2 and the last two pages of this document, what we have there, would you take subject to check, is ‑‑ well, actually, the last three pages are the excerpts from Union's 2007 rate case filing with respect to depreciation.  Would you accept that, subject to check?


MR. BOYLE:  Yes, I would.


MR. THOMPSON:  Thank you.  And if we look at page 2 of 3 of the Union exhibit for distribution plant, southern operations, at line 32, you see a provision of $60,232,000. Would you take, subject to check, that that translates into a rate of about 2.97 percent on the average plant shown in column A?


MR. BOYLE:  Yes, subject to check.


MR. THOMPSON:  And then over on page 3 of the Union exhibit, the distribution plant in the northern and eastern operations, the provision is $34,075,000.  Would you take, subject to check, that that translates into a rate of about 3 percent on the average plant shown in column A --


MR. BOYLE:  Yes.


MR. THOMPSON:  -- at line 13?  And at line 24, would you take, subject to check, that the provision for general plant of $31,971,000 translates into a rate of about 12.6 percent of the average plant shown in column A?


MR. BOYLE:  Yes.


MR. THOMPSON:  And would you take, subject to check, at line 27 the overall rate for Union, the provision in column C translates into a rate of about 3.3 percent on the average plant in column 1?


MR. BOYLE:  Yes.


MR. THOMPSON:  And so just taking these two exhibits, would you agree with me, again, subject to your checking the Union numbers, that the overall provision for Enbridge of 4.56 percent exceeds the overall provision for Union of 3.3 percent by about 1.36 percent?


MR. BOYLE:  Yes, it is higher by roughly that percent; correct.


MR. THOMPSON:  And then just back, then, to Exhibit K7.2.  What we have there in the pages following the letter is an excerpt from the TransCanada 2003 decision.  This is the one you referenced, Mr. Carpenter, was it?


DR. CARPENTER:  No, I referenced RH2‑2004.  This is the depreciation case.


MR. THOMPSON:  RH2‑2004.  Thank you.  In any event, this excerpt indicates that TransCanada's overall depreciation rate is about 3.42 percent.  Would you take that subject to check, Mr. Boyle?


MR. BOYLE:  Yes, I would.  Sorry, that was for 2003.  Now, it may be different for 2007.


MR. THOMPSON:  Have you checked it?


MR. BOYLE:  I have not, no.


MR. THOMPSON:  Well, based on this information, would you agree that Enbridge's overall depreciation rate appears to exceed TransCanada's overall depreciation rate by about 1.14 percent?


MR. BOYLE:  The Enbridge Gas rate for 2007 exceeds the TransCanada rate for 2003 by that amount, yes.


MR. THOMPSON:  All right, thank you.  And whether we use the ‑‑ in my letter, I've used 1.14 percent, which is the lower differential derived from the TransCanada number.  I didn't use the higher number derived from the Union differential.


And what I did was multiply that times the -- it's the test year depreciable plant.  I'm now back in Exhibit D1, tab 13, schedule 1.


MR. BOYLE:  Yes.


MR. THOMPSON:  Multiply that by ‑‑ I actually used the closing plant, when I really should have used the mid‑year plant.


Using the closing balance at 1.14, would you agree with me that the depreciation amount that the difference of 1.14 percent produces is, subject to check, about $60.4 million?


MR. BOYLE:  Yes, I agree with that.


MR. THOMPSON:  And I make the mid‑year balance of your depreciable plant in '07 to be about 5.051 ‑‑ sorry, five-thousand-point-zero-five-one million dollars.  Would you take that, subject to check?


MR. BOYLE:  Yes, I would.


MR. THOMPSON:  And when I do the math on that number, I get the depreciation amount to be slightly less than 60.  It's $58 million and some change.  Would you take that, subject to check?


MR. BOYLE:  Yes, I'd agree with that.


MR. THOMPSON:  And if Enbridge's depreciation recovery were reduced to match either Union's or TransCanada's depreciation recovery, you agree with me that the deficiency reduction would be in the order of the 58 million we're talking about, plus a gross-up for income taxes?


MR. BOYLE:  It would depend on what's causing that, I guess, to some extent.  If you're just going to reduce it for no reason, yes, the mathematical calculation would be correct, but you presumably have a cause for that reduction, and in that case you would have a different asset life.  Certainly mathematically I agree with what you're saying, that basically the Enbridge Gas Distribution depreciation level is higher on a rate basis and, as Mr. Carpenter talked about earlier, there is a cause for that.  That would be that the remaining asset life of Enbridge Gas Distribution would be different than those other entities.


There's a link to why that is different.  Basically, the difference would be attributable to the average life of the remaining assets.


MR. THOMPSON:  If we gross-up the number of $58 million for income taxes, what is the multiple, approximately?  Is it 1.7 at a 35 percent tax rate?


MR. BOYLE:  It depends on your tax rate, but at a 35 percent tax rate it's about 1.54.


MR. THOMPSON:  Is 35 percent the right corporate tax rate?  


MR. BOYLE:  I think we're at 36.1 with the surtax, so it's roughly that.


MR. THOMPSON:  What does that make the 58 million, by your calculations?


MR. BOYLE:  Approximately 90.8 million.


Now, that would assume there's no CCA change that would be associated with that that would offset that.  And presumably, if you're making a change, for some reason like that, there may be some factors influencing the CCA rate as well.


MR. THOMPSON:  Thanks.  Turning, if we could, then, to the credit profile, and looking at Enbridge's situation with its depreciation rate compared to, let's say, the situation of Union - if you would turn to Exhibit A3, tab 8, you will find DBRS and S&P reports, Standard & Poor's Reports, on Enbridge.


MR. BOYLE:  Yes.


MR. THOMPSON:  The attachment 2 is the Standard & Poor's report.


If you go to page 2 of this document, it would appear, and correct me if I am wrong, Mr. Boyle, that Standard & Poor's looks at Enbridge's creditworthiness, and I'm looking at line 5, by looking at Enbridge's unadjusted funds from operation, FFO, and FFO interest coverage ratios.


Then a little further down, they talk about Enbridge's normalized EBITDA.  Do you see that?


MR. BOYLE:  I'm trying to find that specifically.  I would agree that that is part of what they look at, yes.


MR. THOMPSON:  And EBITDA stands for what?


MR. BOYLE:  Earnings before interest, taxes, depreciation and amortization.


MR. THOMPSON:  To show how that ratio is much more favourable for Enbridge than it is for Union, let's assume a rate base of $100 million.  Are you with me so far?


MR. BOYLE:  Yes.


MR. THOMPSON:  At Exhibit E.3, tab 1, schedule 1, we have the test year return, based on your claim as filed here, of 7.76 percent; correct?


MR. BOYLE:  Yes.


MR. THOMPSON:  At line 6.  Then to get the pre-tax return, we'd have to gross up lines 4 and 5 in column 4 for taxes; is that right?


MR. BOYLE:  That's correct.


MR. THOMPSON:  Subject to check, would you agree with me that it binges the number close to 10?  It may not be all the way to 10, but close?


MR. BOYLE:  Subject to check, yes.


MR. THOMPSON:  Taking 10 percent, then, as the output of that process, we can calculate what it is.  The income, pre-tax income, that Enbridge would earn on $100 million of rate base would be $10 million; right?


MR. BOYLE:  Yes.


MR. THOMPSON:  And the depreciation that Enbridge would have on that $100 million would be 4.25 percent, or $4.25 million, roughly?


MR. BOYLE:  No, I think you have to actually add that depreciation back.  This is just the cost of capital you're looking at on the schedule A -- sorry, the E.3, tab 1, schedule 1.  You would need to add to that your expenses for operating cost, depreciation and other non-financing items.


MR. THOMPSON:  Sorry.  The net income, your profit is 10 percent pre-tax; right?


MR. BOYLE:  Yes, but if you're going to subtract expenses from that that are not part of capital, you need to add them back to that number as well.


MR. THOMPSON:  So the income's higher is what you're telling me?


MR. BOYLE:  That's correct.


MR. THOMPSON:  Let's just take it at 10, to illustrate my point.


To get the EBITDA calculation, we would then add your depreciation allowance to that; right?


MR. BOYLE:  Yes.


MR. THOMPSON:  That would bring it up to minimum, 14.25 million; correct?


MR. BOYLE:  Sorry, 14 point --


MR. THOMPSON:  Well, it would actually be 14.56 million.


MR. BOYLE:  That's correct.


MR. THOMPSON:  Okay.


MR. BOYLE:  Yes.


MR. THOMPSON:  And then the debt cost at E.3, tab 1, schedule 1, at line 3, is 4.31 million?


MR. BOYLE:  Using that return component on your hundred-million-dollar rate base; correct.


MR. THOMPSON:  So you would divide 14.56 by 4.31, and you would get the EBITDA ratio; correct?


MR. BOYLE:  Yes.


MR. THOMPSON:  And that would be -- I did it wrong.  What do you get?  3.38 percent?


MR. BOYLE:  Yes.


MR. THOMPSON:  And you go through the same exercise with Union.  The numbers are at the same ROE and all the rest.  10 million earnings, 3.3 million depreciation divided by debt, 4.31.  This is just using Union's depreciation rate rather than yours.  You get a ratio of 3.8 percent.  Would you take that, subject to check?


MR. BOYLE:  I'd have to think about this one because you're not actually looking at the same numerator.  Sorry, the number you referred to was?


MR. THOMPSON:  I have 13.3.  If you're subject to Union's depreciation rate, 3.3 percent, the EBITDA is 13.3 divided by 4.31, which I make it 3.08, 3.09. 


MR. BOYLE:  Actually, I think that would go in the opposite direction, because if you add the 3 ‑‑ you add the 3.2 or the 3.3 to your 10, you get 13. ‑‑ well, 13.2.  And so 13.2, you divide that by the 3.2, and that's 4.13.


MR. THOMPSON:  No, 4.31.  Your debt cost is 4.31?


MR. BOYLE:  Oh, sorry, that's the debt cost.


MR. THOMPSON:  Everything is the same, except the depreciation rate is lower?


MR. BOYLE:  Yes.


MR. THOMPSON:  And so the number is 3.08.  Would you take that, subject to check?


MR. BOYLE:  Yes, I got 3.06, but close enough.


MR. THOMPSON:  And so I suggest to you that EGD's coverage under the EBITDA method is considerably greater than it would be if it was subject to the same depreciation rate as Union.  Would you agree?


MR. BOYLE:  Generally I would agree with that, yes.


MR. THOMPSON:  So let's turn to the capital markets, then, to see how the market evaluates Enbridge's debt compared to Union's debt.  This was a discussion that you had, in part, yesterday with Mr. Janigan, and the starting point is VECC 55, I think.  Wait a minute, here.  Yes, it's the spreads.


MR. BOYLE:  Yes, I've got that.


MR. THOMPSON:  And the spreads on EGD debt compared to the spreads on Union debt, as shown in this schedule, are generally less; is that correct?


MR. BOYLE:  Yes, I'd agree.


MR. THOMPSON:  And so you agree that indicates the market views EGD debt as being a better quality than Union debt?


MR. BOYLE:  Yes, slightly.  Yes, I'd agree.


MR. THOMPSON:  And would you then agree with what Dr. Booth says in his supplementary evidence, Exhibit L, tab 27, schedule 2, page 3 of 9 at lines 26 and 27, where he says:

"There is no capital market evidence to support EGDI's contention that its credit profile and rating are in danger."


MR. BOYLE:  I see that.  I would agree that there is access to the debt markets for EGD, but I think there is concern on the credit profile, to some extent, for a few factors, based on my discussions with credit rating agencies and debt analysts.


And, basically, the credit quality has deteriorated over time, and that is recognized, but there is a relative factor that does apply in the analysis you're looking at relative to other utilities.


I'd say there's concern with a lot of the utilities, and relatively that risk may be the same, that concern may be the same, but there is that concern out there.


I would not agree that there is no concern with the credit profile and the rating.  I would not agree with that assessment.


MR. THOMPSON:  If we focus on what investors are willing to pay for EGD debt compared to Union debt, EGD is of a higher quality?


MR. BOYLE:  Yes.


MR. THOMPSON:  Thank you.


Now, in terms of the relative riskiness of Union and EGD, Mr. Carpenter, if you could turn up VECC number 60, Exhibit I, 24, schedule 60, page 2 of 2.


And there, as I understand it, it is your opinion that Union is relatively more risky than EGD; correct?


DR. CARPENTER:  Yes, from a business risk/equity risk perspective, for the reasons that I say there.  That's distinct from the credit profile issues, but, yes, from a business risk/equity risk perspective, I view Union as relatively more risky.


MR. THOMPSON:  And you say that's because it's in the storage and transportation services business; is that correct?


DR. CARPENTER:  Yes, and that they are subject to competition.


MR. THOMPSON:  And when you say the transportation business is subject to competition, are you thinking there of other pipelines?


DR. CARPENTER:  Yes, I am.


MR. THOMPSON:  So is the Union position in the transportation business essentially the same as the TransCanada position?  It's almost -- it's a leg of the TransCanada system?


DR. CARPENTER:  Well, I wouldn't put it that way.  I mean, for example, TransCanada's main line is very dependent on supply from the basin, whereas Union's transportation service accesses Dawn.  Those market circumstances are fundamentally different, so I would not make that comparison.


MR. THOMPSON:  So is the TransCanada main line riskier than Union's transportation line; is that what you're saying?


DR. CARPENTER:  That would be my evidence, yes.


MR. THOMPSON:  Right.  So TransCanada would be riskier than EGD?


DR. CARPENTER:  Yes.


MR. THOMPSON:  All right.  And the equity ratios for both Union and TransCanada - that's the regulatory-approved equity ratios - are at 36 percent; correct?  


DR. CARPENTER:  That's correct.


MR. THOMPSON:  Thank you.  I'd like now to turn, Mr. Boyle, to the interest coverage issue, and let me start with a principle, and it's this.  Would you agree with me that Enbridge should not get any equity thickening if the tightness in its actual interest coverage is self‑induced?


MR. BOYLE:  I'm not sure what you mean by self-induced.


MR. THOMPSON:  Well, let me try and expand on it in this way.


In the evidence, you indicate there are restrictions in the trust indenture with respect to interest coverages, and I think that trust indenture is in the evidence as part of a Board Staff interrogatory response.


We don't need to turn it up, but it's at Exhibit I, tab 1, schedule 48.  Would you take that, subject to check?


MR. BOYLE:  Yes, I would agree.


MR. THOMPSON:  And are there any dividend restrictions in the trust indenture?


MR. BOYLE:  No.


MR. THOMPSON:  Are you familiar generally with lenders requiring dividend restrictions from corporations?


MR. BOYLE:  Typically, not investment-grade utilities, no.  There's not generally that restriction in the terms of the debt issued by those entities.  In lower grade debt issuers, there are more restrictions, and that would be one that would be found in some of the lower grade credits, yes.


MR. THOMPSON:  Okay.  Well, in terms of what I'm talking about when I'm talking about self‑induced interest coverage problems, assume that the company - that's Enbridge - makes an expenditure that is imprudent.  It spends twice as much on something than it should have.


That would be an example of what I call "self‑induced interest coverage problems."  Does that help you understand where I'm coming from?


MR. BOYLE:  I guess I'm trying to struggle with what you mean by pay twice as much as what it's worth, but ‑‑ and self‑induced.  So I'm not quite following, no, I'm sorry.


MR. THOMPSON:  All right.  Well, if you bought Mr. Daniels a birthday present for $5 million, and then you relied on the expenditure of $5 million to say, Whoops, that's put me up tight in terms of my coverages I need to get more from ratepayers.  Would you agree with me you shouldn't get more from ratepayers when there has been an expenditure of that nature?


MR. BOYLE:  If you're getting at are there expenditures which are outside the utility, if you will, that occur, and the effect of those, you would need to fund those in some way, yes.  In fact, we do fund those by putting in additional equity.


MR. THOMPSON:  Let's turn to, if you wouldn't mind, IGUA Interrogatory 1.


MR. MILLAR:  Which exhibit?


MR. THOMPSON:  Sorry, Exhibit I, tab 9, schedule 1.


MR. BOYLE:  Yes, I have that.


MR. THOMPSON:  What this shows is the extent to which Enbridge Gas Distribution has paid, directly or indirectly, to its parent company, I suggest, more than the Board-approved amounts for recovery from ratepayers.  Is that a fair characterization?


MR. BOYLE:  That's my understanding, yes.


MR. THOMPSON:  And because some of the Board members may not be familiar with this, the amounts shown there for customer support, those are for, would you agree, CIS services and customer service, customer care services, which are provided to Enbridge through a rating company, CWLP, but for which the amounts that CWLP pays to Accenture Business Systems to acquire the services are considerably less than what Enbridge pays to CWLP.  Is that fair?  


MR. BOYLE:  Sorry, you say Enbridge, Enbridge Gas...


MR. THOMPSON:  Pays to CWLP?


MR. BOYLE:  Yes.


MR. THOMPSON:  Right.  And the Board in its decision last year, I suggest, allowed you to recover from ratepayers $104.1 million for customer support, which includes CIS services and customer care services; is that fair?


MR. BOYLE:  Yes.


MR. THOMPSON:  The company, Enbridge Gas Distribution, nevertheless paid to its, I call it an affiliate, but it's CWLP, a related company, almost $20 million more than the Board approved; right?


MR. BOYLE:  Yes.


MR. THOMPSON:  Then the next item, Enbridge Inc., and this is corporate cost allocations, the Board allowed you to recover in rates and determined that $17.2 million was reasonable for those services.  You went ahead and paid $7.6 million more, correct, for Enbridge Gas Distribution?


MR. BOYLE:  Yes.


MR. THOMPSON:  The total of those, I call them overpayments, that find their way up to Enbridge Inc. is $27.4 million; correct?


MR. BOYLE:  That's correct.


MR. THOMPSON:  And you treat those as expenses for the purposes of determining your interest coverage?


MR. BOYLE:  That's correct.


However, I'd note that there are some other items that occur at the corporate level that are in the opposite direction, if you will.  There are a number of items in that regard.  Basically, if you start with the core utility and adjust for the corporate factors, I'll call them, or non-utility factors, you end up at almost exactly the same point.  That's because there are, as I said, some favourable items that offset that.  I can walk you through those numbers if you would like me to.


MR. THOMPSON:  They're not in the evidence by way of response to my interrogatory, are they?


MR. BOYLE:  They're not there, but I can tell you that the Ontario normalized EBIT coverage of about 2.1 times drops to about 1.75 times after adjusting for weather, and then after adjusting for the impact of other utility actual variances in 2006, gets up to about 1.84 times.  Then, if you adjust for the 27.4 million you're talking about here, and also the other corporate factors that apply, such as St. Lawrence Gas and other financing and corporate items, you get back to exactly 1.84.  So it's not actually impacting the consolidated interest coverage of the company, in aggregate, with the corporate factors.  It's neutral on a total basis.


MR. THOMPSON:  I'm focussing on these two numbers because they were the subject of some inquiries in the last case.  In 2005 you were doing the same thing; correct?  You were paying more directly and indirectly to Enbridge Inc. than the Board-approved amounts for each of these items.  Would you take that, subject to check?


MR. BOYLE:  Yes, there were some differences.  I would take that subject to check.


MR. THOMPSON:  My recollection is the excess in 2005 was in the order of I think it was 23 million, but it's something greater than 20 million.  Would you take that, subject to check?


MR. BOYLE:  Subject to check.  I'd have to confirm that, but --


MR. THOMPSON:  This was the topic of some discussion in the 2006 case last year; would you agree?


MR. BOYLE:  Yes.


MR. THOMPSON:  And it came into play in a number of areas.  One of the areas was you had spent more on O&M expenses than the Board-approved amount?


MR. BOYLE:  Yes.


MR. THOMPSON:  The same thing has happened this year, in 2006.  You've spent more on O&M expenses than Board-approved amounts, total?


MR. BOYLE:  Yes.


MR. THOMPSON:  Part of those expenditures are what I call overpayments that find their way to the parent.  Are you familiar with the Board's 2006 rate case decision for Enbridge, Mr. Boyle?


MR. BOYLE:  Yes, I am.


MR. THOMPSON:  Do you have a copy of it there?  I can read this into the record rather than file it.  This is the Board's EB-2005-001/EB-2005-047 decision with reasons dated February 9, 2006.  I'm referring to page 91.


MR. BOYLE:  Yes.  I have got that.


MR. THOMPSON:  In paragraph 10.11.1 the Board was commenting on the extent of the overpayments, if I can use that - that's my word - being made on account of Corporate Cost Allocations; is that fair, Mr. Boyle?


MR. BOYLE:  Yes.


MR. THOMPSON:  In the last part of the paragraph, the Board says, and I'm quoting:

"There is also the potential for an adverse financial impact on Enbridge if it finds it must make budget reductions elsewhere to make score card targets and payments to EI in accordance with CAM.  The Board will not establish the variance account proposed by Schools, but this is an area that is of interest to the Board and one which the Board will monitor going forward."  


Do you agree that's what the Board said?


MR. BOYLE:  Yes.


MR. THOMPSON:  I'd like, then, to turn to the impact of this $27.4 million on the interest coverage calculations in your evidence.  To do that, I think the best place to start is prefiled... this is Exhibit E2, tab 1, schedule 1, appendix 3, page 3.


MR. BOYLE:  Sorry, appendix page 3 of 3?


MR. THOMPSON:  Right.


MR. THOMPSON:  And so for your calculation of -- And these are numbers that find their way into your tables set out in the evidence; correct, Mr. Boyle?


MR. BOYLE:  That's correct.


MR. THOMPSON:  Right.  And so the number for 2006, for example, of 2.10, that was in your initial table at -- initial table.  I think it's 4, am I correct, on page 19?


MR. BOYLE:  Correct.


MR. THOMPSON:  And am I correct that if we wanted to take account of this $27.4 million of overpayments to determine the interest coverage ratio that would apply if those payments had not been made, we would add that to the 346.87 million shown in column 8?


MR. BOYLE:  That's correct.


MR. THOMPSON:  And then divide by the 165.05?


MR. BOYLE:  Correct.


MR. THOMPSON:  And would you take it, subject to check, that the coverage ratio increases to about two-point -- 26.6?


MR. BOYLE:  Approximately 2.268, I get, but...


MR. THOMPSON:  And if I divide the 27.4 million into the -- divide the 27.4 million by the 165.05, I make it that that dollar amount adds about 16.6 basis points to your interest coverage calculation.  Is that in the ballpark?


MR. BOYLE:  Yes, it is.


MR. THOMPSON:  And it takes it well above the 220 that's your target.  These are normalized calculations; correct?


MR. BOYLE:  Yes, but, again, you would have to layer in all other effects, as I indicated earlier, and there is weather.  There is actual utility variances.  There is the other corporate items, and those other corporate items are favourable and ‑‑ but on an actual weather basis in 2006, we're still not going to exceed the two‑times coverage, even with all these adjustments.


MR. THOMPSON:  Well, could I ask you to undertake ‑‑ you have the actual weather coverage table somewhere in here, do you not?


MR. BOYLE:  Yes.  That is at...


MR. THOMPSON:  And is that not the undertaking, part of the undertaking ‑‑ sorry, Undertaking No. J6.1 was actual normalized?


MR. BOYLE:  Yes.


MR. THOMPSON:  And table 4 is normalized; right?


MR. BOYLE:  Yes.


MR. THOMPSON:  And then table 6, which is at page 26 in the E2, tab 1, schedule 1 exhibit, and it appears as table 1 in E2, tab 1, schedule 3.  That's actual, is it?


MR. BOYLE:  No, that is normalized, as well.


MR. THOMPSON:  It's normalized.  So where's the actual table you're talking about?


MR. BOYLE:  We don't have the actual for 2006 shown on here, other than the weather impact, but I've got a table that I can walk you through that may assist in looking at all these numbers, because I think you and I are familiar with what we're referring to here, but it may help just to lay these out in columns, which I've tried to do in a schedule that I developed which we could perhaps walk through.  


It may assist the Board and all the parties in understanding how these effects layer on.


MR. KAISER:  Is this a new document?


MR. BOYLE:  Yes, it would be.


MR. KAISER:  Why don't we distribute that, Mr. Cass?  We'll take a break and that will allow Mr. Thompson to have a look at it.


MR. MILLAR:  We'll give that an exhibit number, Mr. Chair, and I'd also ‑‑ Mr. Thompson referred to the EB‑2005‑0001 decision.  We actually do have copies for that, so I propose we give that an exhibit number, as well.


MR. KAISER:  Okay, fine.


MR. MILLAR:  That will be K7.3.


EXHIBIT NO. K7.3:  EB-2005-0001 DECISION.

MR. MILLAR:  And the new document will be K7.5.  And can we have a title for that document?  I'm sorry, K7.4.


MR. BOYLE:  The 2006 actual EBIT coverage of interest.


MR. MILLAR:  Thank you.


MR. THOMPSON:  Could I just reserve my rights on this new document?  It hasn't been produced.


MR. MILLAR:  Yes, certainly.


MR. THOMPSON:  I may object to its admission at this late date.


MR. KAISER:  Do you want us to hold off giving it an exhibit number?


MR. THOMPSON:  If you won't mind, yes.


MR. KAISER:  That's fine.


‑‑‑ Recess taken at 10:57 a.m.  


--- On resuming at 11:20 a.m.


MR. KAISER:  Please be seated.


Mr. Thompson, did you wish to address this document, or the proposed document?


MR. THOMPSON:  Yes.  Briefly, Mr. Chairman, I'm concerned about this, what I would describe as ambush tactics.


MR. QUESNELLE:  Sorry, Mr. Thompson.


MR. THOMPSON:  I'm not on.  There we go.


Yes, I object to these what I would describe as ambush tactics with respect to this item.  The company has been aware that this has been a topic of concern of mine for some time.  The topic was raised in Dr. Booth's supplementary evidence.  That's at Exhibit L, tab 27, schedule 2, page 5 of 9.  I find it objectionable that this would surface as I'm nearing the end of my cross-examination.


Having said that, I know the Board will want to hear from the company on this topic, so that's my objection, but I'm prepared to deal with it.


MR. KAISER:  Is there anything here, Mr. Boyle - are any of these numbers that you're raising in this document not in evidence, or is any of it new evidence?  Or would we find it all in here somewhere?


MR. BOYLE:  The only item that would be new -- well, sorry.  There would be a couple of items that would be new evidence, which would be the impact of other utility actual variances, about the fourth column over, and the last four columns on the right, because those are basically the results of actual numbers that have come in, and as we finalized our '06 results in the last week and a half or so.


The other item that was introduced yesterday was the impact of actual weather in '06, which is that of the second column numbers, the 57.7 negative shown in that column.


MR. KAISER:  Does that bear on where Mr. Thompson started today?  He was asking why you didn't have '06 numbers on the revision to table 4.  Or is this something totally different?


MR. BOYLE:  This is partly related to that because --


MR. VLAHOS:  I'm sorry.  This document is showing on the screen here and I don't have a copy of this.  Am I supposed to have a copy of this or not yet?


MR. KAISER:  I don't think anyone has a copy of it.  I have a copy of it because I wanted to understand Mr. Thompson's question.


MR. VLAHOS:  But it was shown on the screen.  Maybe it shouldn't be shown on the screen.


MR. KAISER:  That's right.  We haven't been given an exhibit number yet.  Just so I understand.


MR. THOMPSON:  I don’t have a problem with the Board having it so you understand the discussion.


MR. KAISER:  Let's distribute it, then.


MR. MILLAR:  Mr. Thompson, I did hear your objection, but you're not objecting to us giving it an exhibit number?


MR. THOMPSON:  I could give it an exhibit number for identification purposes so the Board can follow the discussion that's taking place with Mr. Boyle.


Just hand it to the Board members and we'll mark it when the debate is finished.


MR. MILLAR:  Pardon me?


MR. THOMPSON:  I just say, give it to the Board members and then we'll mark it when the debate's finished, if that's the Board's inclination to receive it.


MR. CASS:  Mr. Chair, might I address this document briefly?


MR. KAISER:  Yes.


MR. CASS:  Mr. Chair, I disagree completely with Mr. Thompson's characterization of this document.  Essentially what has happened here is Mr. Thompson has pursued an area of cross-examination and Mr. Boyle in his preparation for cross-examination has gathered some information in the event that that subject is pursued.


Mr. Chair, in the course of a rate case proceeding, many, many issues come up through interrogatories and through other aspects of the proceeding.  The witnesses are not in a position to know what will or will not actually come to cross-examination in the hearing.  Many things are heard about as being potentially pursued and they don't materialize.


Mr. Boyle is essentially a well-prepared witness.  He's prepared himself, having heard about different things that may arise on cross-examination.  He could as easily have given this information orally in answer to the questions.  In fact, I think some of the numbers he has already given orally.


The mere fact that he has prepared in advance a document to assist the Board I don't think detracts in any way from the fact that he's just a witness who has prepared for areas that may be pursued in cross-examination.


There's nothing wrong or improper with that, in my submission, Mr. Chair.


MR. KAISER:  That may be.  What I was trying to determine, first of all, is what is new evidence in this.  I take it that the impact of actual weather in '06, the negative -- or is that 57 million?  That's new.  That's new data.


MR. BOYLE:  Actually, Mr. Chair, no, it is not.  That was in the updated schedule that I provided yesterday.


MR. KAISER:  All right.  That's what I thought.


Anything else that's new that we don't have in the record here?


MR. BOYLE:  There is some additional detail that's new, if you will, but the fact that the coverage test is in the 1.84 range is not new; that's in the evidence.  It's just the details that show how we get there that may be considered, if you want, new.  But the result and the effect is not new.


MR. KAISER:  This St. Lawrence Gas impact, is that new?


MR. BOYLE:  It would be part of the detail that's part of the total legal entity result that is not new.  So again, it's part of the detail that, as I said, would be new from that aspect, but not the end result.


MR. KAISER:  All right.  That's helpful.  Mr. Thompson, I understand you would have preferred to have seen this earlier in the day, or even before today.


MR. THOMPSON:  Yes.


MR. KAISER:  I have some sympathy with that.  Do you need some additional time?


MR. THOMPSON:  No.


MR. KAISER:  Let's give this a number, then.


MR. MILLAR:  K7.4, Mr. Chair.


EXHIBIT NO. K7.4:  UPDATED CALCULATIONS SHOWING 


END-OF-DECEMBER RESULTS

MR. THOMPSON:  Now, Mr. Boyle, could you tell me when this was prepared?  That's Exhibit K7.4.


MR. BOYLE:  Late last week.


MR. THOMPSON:  Late last week.  Just a couple of points on it.


In your Exhibit E2, tab 1, schedule 3, page 1 of 3, in question 3, you described the new interest coverage ratio, effective January 1, will be about 1.85 to 1.95 times?  Do you see that?


MR. BOYLE:  Yes.  Depending on the specific 12-month period used over the preceding 23 months; correct.


MR. THOMPSON:  Are those numbers based on some other actual calculations?


MR. BOYLE:  That's correct.


MR. THOMPSON:  What we have here as Exhibit K7.4 is an update of some calculations that form the basis of your evidence that was filed towards the end of December?  Mid-December?


MR. BOYLE:  That's correct.  This is an update that shows the actual results as of the end of December, and this was an estimate in mid-December at that point in time.


MR. THOMPSON:  Now, my understanding of the evidence was that the company was seeking its equity thickness, or making its equity thickness request on the basis of a normalized utility target of 2.20.  Is that correct?


MR. BOYLE:  Yes, it is.


MR. THOMPSON:  So this Exhibit K.7.4 does not have anything to do with the normalized utility target of 2.20; this is actual results for 2006?


MR. BOYLE:  Correct.


MR. THOMPSON:  In terms of what you have done in the appendix to E2, tab 1, appendix 1 - there are three pages there - and these calculations on a year-by-year basis, as I understand it, are the normalized interest coverage calculations.


MR. BOYLE:  That's correct.


MR. THOMPSON:  Just taking it for the year 2006, the calculations on which the claim for an interest coverage, or on which the interest coverage conclusion of 2.10 is based, are shown there in column 7 and column 8; correct?


MR. BOYLE:  That's correct.


MR. THOMPSON:  And we see those numbers reproduced in column 1 of Exhibit K7.4?


MR. BOYLE:  Correct.


MR. THOMPSON:  Right.  And now what you've done in the next four columns is derive a new number for what you call Ontario utility results; correct?


MR. BOYLE:  Correct.


MR. THOMPSON:  And to do that, you've taken into account actual weather in 2006; correct?


MR. BOYLE:  Yes.


MR. THOMPSON:  You get a weather‑adjusted calculation, and then you have a new column, "Impact Of Other Utility Actual Variances."  This is not something that was factored into your normalized calculation; correct?


MR. BOYLE:  It is, because these are not weather-related variances, so they are a part of the normalized results.


MR. THOMPSON:  Well, how can that be?  Column 1 is identical to column 8.  Column 1 of K7.4 is identical to column 8 of Exhibit E2, tab 1, schedule 1.


MR. BOYLE:  Yes.  Sorry, they're certainly not in that, because these are actual variances on things like, as shown, interest expense, operating costs and other items that are in the actual results that are not weather-related, but are not in the forecast results.  


So these are the actuals, not the forecast.


MR. THOMPSON:  Okay.  So it's an actual variance, and are you, in effect, telling us you spent ‑‑ does the line 7.81 mean you spent more or spent less on other items?


MR. BOYLE:  Less.


MR. THOMPSON:  Okay.  But my point is this, is that when we're looking at the normalized allowed ‑‑ sorry, let me just strike that for a sec.


Now, you didn't bring in the impact of overpaying for customer care and CIS services and for corporate cost allocations into account in the Ontario utility results.  For some reason, you've put that over outside of the utility.  Why is that?  


MR. BOYLE:  Well, actually that is a corporate cost that is not recovered in rates.  That is not, therefore, in the Ontario utility results, because it's not an allowed cost recovery.


MR. THOMPSON:  Right.  But my point is, really, on a normalized basis, those expenditures should really be excluded in the earnings before income taxes that you have in column 1.  That's the point I'm trying to make.


And so my position is that impact of corporate costs not recovered in rates belongs on the utility side of the ledger.  You disagree with that, do you?  That's what this calculation is showing.


MR. BOYLE:  I would not agree with your assessment; correct.


MR. THOMPSON:  Right.  But if we put it over there and we add it to column 1, the normalized result becomes 2.26; right?


MR. BOYLE:  I think it's a bit higher, 2.268, roughly, or 2.27, rounded.


MR. THOMPSON:  2.27, right.  Thank you.


And after, deduct the weather-adjusted amount in column 3, if we put the -- where I say these items belong, becomes instead of 1.75, what?


MR. BOYLE:  Well, I think it stays at the 1.75, because this is what the allowed is, and we haven't spent anything, if you will, in the actuals, so there's nothing to adjust to that.


And then you've got the impact of weather.  So you come to the 1.75 still.


MR. THOMPSON:  Forget it.  I'll do the math myself.


Now, the total Ontario results, even if you take into account these variances that you've put through, would become, I make it, 324 point ‑‑ I think it's 38 million, and it would increase the ratio to 2.01.  Would you take that subject to check?


MR. BOYLE:  I would agree with that, yes.


MR. THOMPSON:  And these other items, St. Lawrence and inter-company financing, those are outside the utility, clearly; right?


MR. BOYLE:  Yes, they are.


MR. THOMPSON:  Okay.  And coming back, then, to the normalized calculation on which the application for equity thickening is based, and, in particular, the items in Exhibit E2, tab 1, schedule 1, appendix 3, could you undertake to recalculate the interest coverage ratios in column 9 on the assumption that the amounts that EGD has paid to its parent for corporate cost allocation in each of the years 2002 to 2006, inclusive, are to be added to the amounts in column 8, along with the amounts that EGD has paid to CWLP in excess of the Board‑allowed amounts for customer support are also added?


Could you do that, please?


MR. BOYLE:  Yes, I could undertake to do that.


MR. THOMPSON:  Thank you.


MR. MILLAR:  J7.3.


UNDERTAKING NO. J7.3:  RECALCULATE THE INTEREST 


COVERAGE RATIOS IN COLUMN 9 IN ITEMS IN EXHIBIT E2, 


TAB 1, SCHEDULE 1, APPENDIX 3, ASSUMING THAT AMOUNTS 


PAID FOR CORPORATE COST ALLOCATION IN 2002-2006 


INCLUSIVE ARE TO BE ADDED TO THE AMOUNTS IN COLUMN 8, 


ALONG WITH THE AMOUNTS PAID TO CWLP IN EXCESS OF 


BOARD-ALLOWED AMOUNTS FOR CUSTOMER SUPPORT.

MR. THOMPSON:  Now let's move to our last topic here with respect to solutions to this problem.  We take the view there isn't a problem, because when you do the calculations properly, you're over your target.  But let's just assume that there is this temporary coverage problem of the type that you've described for 2006.  


And now I'm looking at solutions.  What are the possible solutions to that temporary problem?  And this is a topic that you had some discussion with Mr. Janigan about, and it's addressed by Dr. Booth in his prefiled evidence.


And Dr. Booth says - this is my paraphrase - that to solve the problem, you should adopt a least‑cost ‑‑ a solution that represents a least‑cost solution for ratepayers.  And that's my paraphrase of what he's getting at at page 8 of his reply testimony, Exhibit L, tab 27.


Would you accept that as a reasonable paraphrase of what he was trying to say there?


MR. BOYLE:  Yes.


MR. THOMPSON:  Okay.  And he identifies two least‑cost solutions.  One is what he describes as the commercial paper/interest rate swap financing option, which is a debt solution; would you agree?  


MR. BOYLE:  Yes.


MR. THOMPSON:  Right.  And would you agree that that option is available to the company?


MR. BOYLE:  Yes.


MR. THOMPSON:  Another he identifies is the short‑term preference share financing, which would be cheaper than an equity thickening solution.  Would you agree that that is an option available to the company?


MR. BOYLE:  It is an option available to the company.  I think it's significantly inferior, but it is an option, yes.


MR. THOMPSON:  He also suggests in his evidence that the MTN market is ‑ that's the medium‑term notes ‑ can be for a term shorter than 30 years.  Do you agree?


MR. BOYLE:  Yes.


MR. THOMPSON:  And has Enbridge been accessing that market for 30‑year terms recently?  Is that...


MR. BOYLE:  Yes, in February of 2006 we issued 30‑year term debt.


MR. THOMPSON:  Now, would the shorter-term MTN market be available to you? 

MR. BOYLE:  Yes, it would, provided we have access, and currently we would not have access to any MTN-term market for new debt, but we would be able to refinance.


MR. THOMPSON:  The other option Dr. Booth mentions here, and it is really with respect to long-term financing, he talks about the option of first-mortgage bonds being available to you.  As I understand it, that's on maturity of existing issues.


Do you agree that that source of debt is available to the company?


MR. BOYLE:  Again, technically it would be, but that would be a very severe option to pursue in terms of what it would do to the existing debtholders and the company's reputation in the capital markets.


MR. THOMPSON:  Are the coverage tests more relaxed under that option?  Dr. Booth suggests they were about 1.5 times, if I read this evidence correctly.  Do you agree with that statement?


MR. BOYLE:  They don't exist right now because we don't have the terms that they would be issued under; we would have to negotiate those with the purchasers of the debt.


MR. THOMPSON:  But I thought you indicated to Mr. Janigan other utilities like Ontario Hydro have them, and that the restrictions are less severe than two-times.  Is that correct?


MR. BOYLE:  No, it's not the secured debt that's the issue of the first mortgage bonds.  That's a separate issue.  The TransCanada and the Hydro One debt is unsecured debt.  They just have a different trust indenture.  Whether it's first-mortgage notes or unsecured, it's not really a distinction that matters on a utility-by-utility basis, because you typically have one or the other, and there's a trust indenture that applies.  It's not whether it's secured or unsecured, generally, for a mature utility; it's what did you negotiate at the time as the covenants that the marketplace was accepting.


MR. THOMPSON:  Let me just be clear.  Do I understand, then, that Hydro One and TransCanada have restrictions that are less severe than two-times?  Is that your understanding?


MR. BOYLE:  They have different restrictions.  Whether they're less severe or not depends on the specifics of the entity, but they are different.


MR. THOMPSON:  My last question is this, then.  As your debt matures, do you have the option of negotiating new debt under the auspices of restrictions that are less severe?


MR. BOYLE:  Yes, we do.


MR. THOMPSON:  Thank you.  Those are my questions, Mr. Chairman.


MR. KAISER:  Thank you, Mr. Thompson.  Mr. Shepherd, do you have any questions?


MR. SHEPHERD:  Mr. Chairman, Mr. DeVellis is going to be doing this one.


MR. KAISER:  All right.


MR. DeVELLIS:  Thank you, Mr. Chairman.


CROSS-EXAMINATION BY MR. DeVELLIS:

MR. DeVELLIS:  Good morning, panel.  My name is John DeVellis.  I represent the School Energy Coalition.


I had originally estimated an hour for my cross-examination, but it's been cut down substantially following Mr. Thompson's questions.  I may be a little choppy in my questions as a result of trying to cut out some of my questions, but I hope you bear with me.


I want to start with, first of all, in your evidence it appears that the comparison year that you're trying to use is 1993 in terms of changes in business risk that the company faces.  Is that right?


MR. BOYLE:  Yes, it is.


MR. DeVELLIS:  And your capital structure has been approved by the Board a number of times since that time?


MR. BOYLE:  Correct, as part of their decisions.  There's a capital structure identified and it hasn't been in issue, so it's been at 35 percent since that point in time.


MR. DeVELLIS:   In your last rates case for the 2006 year, you were originally seeking a capital expenditure budget of $458 million.  Do you recall that?


MR. BOYLE:  I don't recall the precise number for 2006, no.


MR. DeVELLIS:  You could take it subject to check that's the approximate capital expenditure budget that was proposed by the company?


MR. BOYLE:  Subject to check, yes.


MR. DeVELLIS:  You can also take subject to check that would have been a $200 million increase over the previous year in your capital expenditure?


MR. BOYLE:  Sorry, a $200 million increase over?


MR. DeVELLIS:  Over 2005.


MR. BOYLE:  I'd have to check that.


MR. DeVELLIS:  If the Board had accepted that amount, it would have been a substantial increase in the amount of debt that you would have had to issue?


MR. BOYLE:  There would have been an increase in capital requirements, debt and equity, yes, so it would have been both, because you need to finance the capital with equity and debt at the proportions prescribed in the capital structure.


MR. DeVELLIS:  And the company didn't seek, at that time, a change to its capital structure in conjunction with its application?


MR. BOYLE:  That's correct.


MR. DeVELLIS:  Now, Mr. Thompson took you to some passages from RP-2002-0158, and this is marked as Exhibit K7.1.  I want to address your attention to some additional parts to have decision, beginning at paragraph --


MR. MILLAR:  I'm sorry, Mr. DeVellis, what is that reference.  I missed that.


MR. DeVELLIS:  Oh, I beg your pardon.  It's Exhibit K7.1.  It's the RP 2002-0158 decision.


MR. BOYLE:  I have that.  Yes.


MR. DeVELLIS:  I want to direct your attention, beginning at paragraph 61, where the Board is summarizing the submissions or the evidence of the Canadian Gas Association.


MR. BOYLE:  Yes, I see that.


MR. DeVELLIS:  Is Enbridge Gas Distribution a member of the Canadian Gas Association?


MR. BOYLE:  Yes, they are.


MR. DeVELLIS:  At paragraph 61 the Board describes the CGA as having supported a higher ROE for Canadian utilities, including the applicants.  Do you see that there?


MR. BOYLE:  Yes.


MR. DeVELLIS:  Some of the arguments they make are, for example, at paragraph 65, where the CGA had argued that the ROE formula no longer compensates investors appropriately for an increase in the perceived riskiness of utilities since 1997?  Do you see that there?


MR. BOYLE:  Yes.


MR. DeVELLIS:  At paragraph 68, the CGA argued that the formula for ROE has resulted in a decline in equity returns that is faster than a decline in the utilities' embedded cost of debt.  As a result there has been downward pressure on utility interest coverage ratios, which in turn puts pressure on utility debt ratings.  Do you see that there?


MR. BOYLE:  Yes.  That's correct.


MR. DeVELLIS:  That's similar to some of the arguments that you've been making in this proceeding, would you agree?


MR. BOYLE:  Yes, it is.


MR. DeVELLIS:  And at paragraph 127, as part of the Board's decision, the Board says:

"We found no evidence of the applicants being in financial hardship as a result of the authorized ROE."


MR. BOYLE:  Yes, I see that.


MR. DeVELLIS:  Now, I understand that you've been making a distinction between capital structure and ROE, but from a debt investor's perspective, the issue is the same, and it's the ability of the company to repay the debt that issued?


MR. BOYLE:  That's correct.  It's your coverage ratios and your credit quality; whether it comes from equity thickness or increased ROE, it could have the same effect overall from a credit holder's standpoint.


MR. DeVELLIS:  If the Board had believed, in this Decision, that the amount of earnings relative to interest payments was insufficient, then it couldn't have concluded that the authorized ROE was sufficient, could it?  


MR. BOYLE:  I think that that would be part of the decision, yes.  But, as I noted in our evidence, at that point in time we did have improved coverages relative to today, so it was a different situation then than it is today, I would suggest.  At that point in time, that may have been the case, and we didn't argue for increased equity thickness at that point in time, but we are now because the credit quality has continued to deteriorate since that time to even more severe levels.  As I said in my original evidence, action is required at this point, in our view.


MR. DeVELLIS:  That gets back to my initial question.  Are you basing your proposal on changes since 1993 or on changes since 2003?


MR. BOYLE:  There are two components.  There are changes in business risk from 1993.  There are changes in credit profile that have occurred over that time as well.  The change in that has been severe in the last three years -- more severe in the last three years on the credit profile than the business risk element, as Mr. Carpenter alluded to earlier.


MR. DeVELLIS:  And since 2003, has the company had any trouble attracting capital?


MR. BOYLE:  It hasn't had trouble, no.  It's just the costs you attract to that, but it has had good access to the debt markets and that's been in a good corporate credit environment.  So that has not been an issue, I would agree.


MR. DeVELLIS:  And have there been any credit downgrades for the company since 2003?


MR. BOYLE:  Not since 2003, no.


MR. DeVELLIS:  I had provided you with a copy of an excerpt from EBRO 479, which I don't believe has been marked as an exhibit.


MR. MILLAR:  I'm sorry, Mr. DeVellis.  This is the EBRO 479?


MR. DeVELLIS:  Yes.


MR. MILLAR:  Okay.  That will be Exhibit K7.5.


EXHIBIT NO. K7.5:  EXCERPT FROM BOARD'S DECISION IN 


EBRO 479.

MR. DeVELLIS:  Okay.  And this is an excerpt from the Board's decision in EBRO 479.


And I believe you referred to this decision in your evidence, Mr. Boyle?


MR. BOYLE:  Yes.


MR. DeVELLIS:  And I'll just ‑‑ the passage that is quoted in your evidence, I believe at Exhibit E2, tab 1, schedule 1, page 2, is found at page 91 of the exhibit.  It's paragraph 7.2.5.


MR. BOYLE:  Yes.


MR. DeVELLIS:  That's the same passage you quoted?


MR. BOYLE:  Yes.


MR. DeVELLIS:  Okay.  And the result, of course, is the Board rejected the company's proposal at that time?


MR. BOYLE:  That's correct.


MR. DeVELLIS:  I'm just going to refer you to, a little bit earlier in the document, some of the arguments that were made in support of the proposal.


MR. VLAHOS:  Mr. DeVellis, is there a date for this decision that you can help us with?


MR. DeVELLIS:  Yes.  I believe the decision was released March 18th, 2003.


MR. VLAHOS:  Thank you.


MR. DeVELLIS:  I apologize, I don't have the exact date, but I can provide that to the Board.


MR. BOYLE:  Actually, our footnote on the third page shows March 1993.


MR. DeVELLIS:  Pardon me, 1993.  Yes, March 3rd, 1993.


So I'm going refer you to some of the arguments that were made in support of the proposal at that time, and if you could turn to the first page of the document at paragraph 7.1.1.


MR. BOYLE:  Yes.


MR. DeVELLIS:  Dr. Sherwin and Ms. McShane contended that the financial risk of the company has continued to rise, and then later on, in the -- well:

"The narrowing of the spread between the allowed utility return on equity and the embedded costs of debt and the earnings shortfall have, in their opinion, contributed to a decline in utility interest coverage and limited the company's financial flexibility."


MR. BOYLE:  Yes.


MR. DeVELLIS:  Then on the next page, same paragraph, there's reference to Mr. Lackenbauer, who testified that:

"The existing common equity ratios and high level of debt are endangering the credit ratings and financial flexibility of the company."


MR. BOYLE:  Yes.


MR. DeVELLIS:  And, finally, at page -- the next paragraph, 7.1.2:

"Consumers Gas maintained that its financial flexibility has been affected by the shortfall in earnings experienced in 1991 and 1992 and decline in interest coverage ratios."


MR. BOYLE:  Yes.


MR. DeVELLIS:  Again, these are very similar arguments to the arguments you're making in this proceeding?


MR. BOYLE:  That's correct.


MR. DeVELLIS:  And I think you said to Mr. Janigan yesterday that subsequent to the 1993 proceeding, the company didn't have any problems attracting capital?


MR. BOYLE:  That's correct.  We are able to attract capital.  The cost will change from time to time depending on your credit quality, but, yes, we have access.


MR. DeVELLIS:  Now, if the Board had accepted the company's proposal at that time, how much more would ratepayers have paid for capital in the ensuing 14 years?


MR. BOYLE:  It's difficult to determine exactly what the answer to that question would be.  I would personally suggest that overall, in the long term, you would actually pay less, and certainly that in the current market is the case, in our experience, with the utility market, and that's evidenced by what Enbridge Inc. and other utilities and their holding companies are typically doing.


And I stress that it is a long‑term issue.  It's not in the short term, I would agree.  In the short term, increasing your equity thickness is going to be, if you will, more expensive, because you're not going to get the full benefits of that in the short term.  It's in the long term.


As your debt gets refinanced and repriced and that benefit of the increased equity thickness or increased credit profile starts to build up throughout your portfolio, then in the long run, you will end up costing yourselves less by having a higher credit quality than a lower credit quality.


MR. DeVELLIS:  Well, none of the, I guess, risks that you had identified in this proceeding materialized subsequent to the proceeding, in terms of your credit rating; is that right?


MR. BOYLE:  No, that's not correct, because our credit rating was downgraded in 2001, actually.  Enbridge Gas Distribution was downgraded in 2001 by both DBRS and Standard & Poor's.


MR. DeVELLIS:  Well, but that was eight years later, and, as I understand it, relating to factors that don't relate to any of the risks that you identified in 1993?


MR. BOYLE:  No, part of the factors identified in 1993 were the lower interest coverages that result, and that was part of the DBRS decision.  Weather was another factor, but -- so I think there were some relationships.


MR. DeVELLIS:  Now, there was no increase to your cost of debt after 1993, between 1993 and 2001, as a result of the decision?


MR. BOYLE:  I don't know if that's the case.  I -- it's hard to say exactly what there would have been.  I would suggest that they would have been lower than they were had the company's position been accepted, but how much lower and exactly what that would have been is hard to quantify.


MR. DeVELLIS:  Now, the increase in the cost of capital to ratepayers, based on your application in 1993 decision, between 1993 and 2004 I'd estimated approximately $100 million in extra capital cost to ratepayers over that time.  Does that sound about right?


MR. BOYLE:  Sorry, I don't quite follow that, what you're referring to and how you calculate that.


MR. DeVELLIS:  Well, I believe what you're seeking in the 1993 decision - and you can correct me if I am wrong - was the ability to fluctuate the equity component of your capital structure between 35 and 37 percent?


MR. BOYLE:  Correct.


MR. DeVELLIS:  Okay.  And so that would have been up to a 2 percent increase in your equity component?


MR. BOYLE:  Yes.


MR. DeVELLIS:  Per year?


MR. BOYLE:  That's correct.


MR. DeVELLIS:  Now, it's difficult to estimate without the actual rate base for those years, but even if you factor approximately $5- to $6 million a year in extra capital costs times 14 years, grossed up for taxes, then you could get close to $100 million in extra capital costs?


MR. BOYLE:  Potentially, but then you would have, I'd suggest, lower interest costs that would offset that because of the higher credit quality, and that -- in our experience in the long run -- that's where, as I said, in the very long run, you are going to actually have lower costs, because your interest costs will decline because of the higher credit quality.  And that more than offsets the cost of the increased equity, if you will.


But it is a long‑run issue.  I agree, in the very short run, it is not neutral, except if you take into account the lower financing costs that occur as a result of the decline that would be there, in any event.


MR. DeVELLIS:  Can you turn to the DBRS credit report that is attached to VECC Interrogatory No. 51?  That's Exhibit I, tab 24, schedule 51, attachment 1.  It's at page 13 of 204 of the attachment. 


MR. BOYLE:  I have that.


MR. DeVELLIS:  I think that's schedule 55 you have up on the screen.  It should be schedule 51 on the screen.


MR. BOYLE:  That's attachment 3, page 13 of 70 attachment you’re referring to?


MR. DeVELLIS:  I believe it's attachment 1, but there is no number on the attachment.


MR. QUESNELLE:  How many pages are in the attachment, Mr. DeVellis?


MR. DeVELLIS:  It's 204 pages.  It has attached --


MR. QUESNELLE:  I think we have that attachment 2.


MR. DeVELLIS:  I apologize.  It's attachment 2.  


MR. BOYLE:  Sorry, this is the Enbridge Inc. credit rating report?


MR. MILLAR:  What page is that, Mr. DeVellis?


MR. DeVELLIS:  It's beginning at page 12 of 204 of attachment 2, schedule 51.


Yes.  That's it.  And so we see that that credit rating report was released in October of 2003.


MR. BOYLE:  Yes.


MR. DeVELLIS:  And the decision in RP 2002-0158 was released January 16th, 2004.


MR. BOYLE:  Yes.


MR. DeVELLIS:  Do you see that?  On page 13 of 204, under paragraph numbered 3, it refers to Enbridge Gas.  It says, in the middle of the first column -- 



MR. BOYLE:  Yes.


MR. DeVELLIS:  [Reading]  

”Enbridge owns a strong natural gas distribution, storage, and transmission franchise, Enbridge Gas Distribution.  The franchise area is among the fastest growing regions in Ontario, has high population density, and its customers are heavily weighted toward the higher margin residential and commercial categories."


MR. BOYLE:  Yes.


MR. DeVELLIS:  And then in the next paragraph, in the second sentence:  

”Enbridge” -- meaning Enbridge Inc., I  assume – “derived about 85 percent of its 12-months-to-June 30, 2003 earnings from low-risk, mostly regulated activities."


MR. BOYLE:  Yes.


MR. DeVELLIS:  At the time that you were before this Board asking for a higher return on equity, DBRS was reporting that your regulated operations provide stable income from low-risk regulated activity.


MR. BOYLE:  Yes.


MR. DeVELLIS:  Then if you turn to page 14 of the exhibit, bottom of the first column, under "Enbridge Gas Distribution," there's a reference to:

"The approved capital structure is 65 percent debt and 35 percent common equity."


MR. BOYLE:  Yes.


MR. DeVELLIS:  I don't see anywhere in this document any negative comment about that capital structure.


MR. BOYLE:  There's nothing specifically identified here; that's correct.


MR. DeVELLIS:  If I can ask you now to turn to the June 2005 DBRS report, which is at Exhibit A3, tab 8, schedule 1, attachment 1.  This one says "Attachment 1." 


This report was released June 1, 2005.


MR. BOYLE:  Yes, I have that.


MR. DeVELLIS:  If you turn to the second page, at the bottom of the right-hand column.  Again, there is a reference to the capital structure, 65 percent debt and 35 percent equity?


MR. BOYLE:  Mm-hm.


MR. DeVELLIS:  And on the fifth page, on the bottom of the second column, the last bullet point, there's a reference to higher interest expense associated with additional debt which resulted in a decline in the client EBITDA interest coverage.  Then in the dash there at the bottom, it says:

”However, the company's capital structure remains in line with that approved by the regulator and is adequate to support the rating."


Do you see that there?


MR. BOYLE:  Yes, I do.


MR. DeVELLIS:  So certainly there does not seem to be any concern with your capital structure from DBRS as of June 2005.


MR. BOYLE:  I agree.  And that's at the point where we had a coverage of 2.20 times.  Since then it has declined in the allowed levels and in the actuals as a result of weather.


MR. DeVELLIS:  Are you basing your proposal on events over the last 18 months?


MR. BOYLE:  That's a significant determining factor, yes.  Now, there are other factors that have occurred over the years, and it has basically built up to the point where all these factors are causing us to come forward with an application for the increased equity thickness to address the credit profile of concerns; yes.


MR. DeVELLIS:  You were asked yesterday about issues of increased volatility due to weather.  I'm not going to go into that, but there are some other issues that you identify in your evidence besides weather, such as increased use of high-efficiency furnaces, changes to housing stock, changes in accounting standards and changes in efficiency standards?


MR. BOYLE:  Yes.


MR. DeVELLIS:  And if we take as an example your evidence regarding the increased use of high-efficiency furnaces beginning at page 8 of Exhibit E2, tab 1, schedule 1.


MR. MILLAR:  Could you repeat that, Mr. DeVellis? 


MR. DeVELLIS:  I beg your pardon.  Exhibit E2, tab 1, schedule 1.


Sorry.  It's paragraph 17 on page 8?


MR. BOYLE:  Yes.


MR. DeVELLIS: 
What you say there is:

"The incidence of medium and high-efficiency natural gas furnace useage has been increasing."


But those are - and I'll make the same comments with respect to the other issues I've mentioned - all fairly predictable and stable changes?


MR. DENOMY:  To a certain extent, yes.


MR. DeVELLIS:  And if you look at figure 2 there on page 8, it's a pretty straight line showing the increase of use of high-efficiency furnaces.


MR. DENOMY:  Yes.


MR. DeVELLIS:  Okay.  Those changes could be built into your model?  They're fairly predictable. 

MR. DENOMY:  They're fairly predictable, yes.


MR. DeVELLIS:  Okay.  So it wouldn't increase the company's credit risk per se?


MR. DENOMY:  To the extent that there would be, say, for example, a substantial jump next year in the number of high‑efficiency furnaces, it would imply, for example, a decline in average use that could be conceivably even lower than we are projecting now.  


It represents a forecast risk, and when you're setting rates on a prospective basis, part of your business risk is the chance that you might not get your forecasts of volumes correct.


MR. DeVELLIS:  That's correct, but just based on your experience over the last, say, ten or 14 years, there's been a pretty stable increase.  There's no reason to think that there's going to be sudden jumps in any of these things?


MR. DENOMY:  I would agree with that.


MR. DeVELLIS:  I think that brings me to the end of my questions.  Thank you very much.


MR. KAISER:  Thank you, Mr. DeVellis.  Mr. Buonaguro, do you have any questions?  Mr. Shepherd?  Mr. Millar?


CROSS-EXAMINATION BY MR. MILLAR:

MR. MILLAR:  Yes, I just have a few questions, Mr. Chair.  I'll only be a couple of minutes.  


Good afternoon, panel.  My name is Michael Millar.  I'm counsel for Board Staff.  I just have a couple of areas.  Many of the questions I had have already been asked and answered.


A quick question on the last Union rates case.  You're familiar that Union, in its prefiled evidence, was seeking an equity thickness of 40 percent; is that correct?


MR. BOYLE:  That's my understanding, yes.


MR. MILLAR:  And are you generally familiar with that case?


MR. BOYLE:  At a very high level.


MR. MILLAR:  Okay.  Well, I'll ask the questions and you can have a stab at answering them.


And are you aware that the Board ‑‑ well, actually, there was a settlement at 36 percent?


MR. BOYLE:  Yes, I am aware of that.


MR. MILLAR:  And that was approved by the Board?


MR. BOYLE:  Yes.


MR. MILLAR:  And in your responses to Mr. DeVellis and, I think, to others, you mentioned that there were, I guess, two reasons behind your proposed change to move your equity thickness up to 38 percent.  I heard you say there was business risk and credit ‑‑ sorry, the credit profile issue?


MR. BOYLE:  Yes.


MR. MILLAR:  And in terms of the business risk issue, is it your position that Enbridge has greater business risk than Union?


MR. BOYLE:  No, I don't think so.  I think they're pretty similar.


MR. MILLAR:  Thank you.  And in terms of the credit profile issue, are you aware of what issues, if any, Union had regarding their interest coverage ratio?


MR. BOYLE:  I understand that at the time they were reviewing that issue as part of the settlement discussions.  They were uncertain if they would meet their new issue test for 2007.  I don't know what has happened since then.


MR. MILLAR:  And are you familiar with the actual ratio numbers that they had on record?


MR. BOYLE:  No, I'm not.


MR. MILLAR:  Okay, thank you.


Okay, thank you.  Moving on, just a question of clarification, really.  If I could have you pull up Exhibit E2, tab 1, schedule 3, page 2?  That's the table 1.  I think we've looked at this exhibit before.


MR. BOYLE:  Yes.


MR. MILLAR:  And I see under the bottom ‑‑ the bottom right‑hand corner of that table, we see the change in requested deficiency in millions is 9.5 million shown there?


MR. BOYLE:  Yes.


MR. MILLAR:  And that's from a 35 percent equity thickness; is that correct?


MR. BOYLE:  That's correct.


MR. MILLAR:  And I just want to make sure I've got the numbers correct, because if we pull up Exhibit A2, tab 5, schedule 2, page 5, and if we could scroll down to the bottom of the page, I see under change in equity level to 38 percent -- which I think is talking about the same thing.  


These are the drivers of the deficiency, which is what this schedule is showing -- or this table, pardon me.  If we look down at the bottom under line 28, we see $10 million.  Can you help me with the difference in $500,000?


MR. BOYLE:  It was essentially just rounding at the time that we had to do this calculation versus what was done by Mr. Culbert in his update following the settlement discussions.


MR. MILLAR:  So which is the correct number, then?


MR. BOYLE:  I would suggest that 10 is the more accurate number, and that was identified in my evidence-in‑chief.  I think I pointed to that number, as well.


MR. MILLAR:  Yes, you did.  I just wanted to make sure I had my numbers correct.  


MR. BOYLE:  Yes.


MR. MILLAR:  The last area I wanted to ask a couple of questions on was -- do you have the transcript from yesterday?


MR. BOYLE:  Yes, I do.


MR. MILLAR:  And I'll be looking at page 22.  Do you have that?


MR. BOYLE:  Yes, I do.


MR. MILLAR:  Thank you.  I'm looking at your response to a question from Mr. Adams at the top of the page.  He had asked you a question about the recent changes between the fixed or the ongoing over-the-years changes between the fixed and variable charges.


And your response was, starting at line 3:

"I wouldn't say it's in favour of the company, but I understand there have been changes which have had various effects on the variable charge and the fixed charge, yes.  I'd also note, though, that the customer base has increased significantly over that time frame, and therefore the volume exposure that we have expressed is higher as a result of that."


And then if you go to the next page, page 23, I think this is another response to a question from Mr. Adams, and starting at line 7, you say:

"And partly because customer growth has increased our volume risk and partly because the weather is naturally volatile, and we've seen that in our actual financial results." 


So I just want to be clear as to what you're saying here.  Is it your position or the company's position that an increase in customer numbers gives rise to an increase in the level of risk?


MR. BOYLE:  It gives rise to an increase in the dollar exposure to weather, because the volumes will be higher.


MR. MILLAR:  Is that one of the reasons you're seeking the increase in the equity thickness?


MR. BOYLE:  Well, what I'm suggesting is that from a financial perspective, the coverage that you have that I've identified in the coverage ratio calculations - and I'll call it the margin of room above the two-times coverage - I've quantified it in dollar terms over the years, and that has declined over the years.  


But the dollar exposure to weather, if you will, has increased as our customers have increased, and the volumes associated with those would have, on a gross basis, changed over time.


MR. MILLAR:  And just so I'm clear, is this one of the reasons behind the requested change in the equity thickness? 


MR. BOYLE:  The weather volatility is a reason, yes.


MR. MILLAR:  But what about the customer-growth issue?  Is that one of the drivers?


MR. BOYLE:  Not the customer growth, not ‑‑


MR. MILLAR:  So weather, but not customer growth?


MR. BOYLE:  No, but it's the weather exposure that I'm referring to, which is partly related to customer growth and offset by other factors, as well.


MR. MILLAR:  But you wouldn't say a company with a larger customer base is riskier than a comparable utility with fewer customers?


DR. CARPENTER:  Well, if the larger customer base requires more capital investment to be put at risk, then it could be riskier.  So it's a function of how much capital you have at risk, what are the factors that are driving average customer use, et cetera.  So you can't just say that a growing entity is less risky.


MR. MILLAR:  No, and that's fair enough.  But I don't think the company is suggesting that the increase in the number of customers over the years is making them a riskier proposition; is that fair to say?


MR. BOYLE:  I think that's fair.


MR. MILLAR:  Okay, thank you.


I do just want to swing back and close the loop on my first area of questions.  I apologize.  I should have done all this in one -- in one go.  But I was asking you about the differences between Union and Enbridge, and you're aware that Union settled on 36 percent.


I heard that it's not the company's position that Union is ‑‑ or, pardon me, that Enbridge is riskier than Union, and there appear to have been similar issues with Union regarding the interest coverage ratios, although I accept that we don't know the exact numbers.


Given those two issues ‑‑ or, pardon me, those two facts, if I can call them that, can you explain why Enbridge feels it should get a number higher than the 36 percent that was approved for Union?


MR. BOYLE:  I guess my difficulty is I don't know enough about Union's specifics to comment as to why they are in a position to do what they were doing with their case.  I know with respect to Enbridge Gas Distribution we don't have any spare liquidity right now for financing.  We have a very tight position with our financial profile and credit metrics.  And there is concern that that credit quality deterioration is going to cause some increase in our financing costs.


Now, exactly how Union compares on those, I don't know.  But I do know with respect to Enbridge Gas Distribution it is a concern, it is an issue, and in our view you need to address it because it would be beneficial to all parties in the long run, to improve the credit profile of the utility, in our case, based on our specific factors.


Again, what Union's are I can't comment on because I don't know enough about their detailed financials, their liquidity position, their financing capacity, and the like.


MR. MILLAR:  Thank you very much, gentlemen.  Those are my questions.


QUESTIONS BY THE BOARD:

MR. QUESNELLE:  Yes, I have questions for Dr. Carpenter.  This comes from the examination-in-chief by Mr. Cass.  If you want to refer to yesterday's transcript, it will be on page 8 and 9.  This is the area, at the bottom of page 8 -- well, I guess through the middle of page 8, actually.  When referencing the Betas and the reporting on Beta that the investor service ValueLine publishes, there are a couple of areas.  I want to talk to you about that.  


First of all, you characterize the utilities that you were mentioning and giving the Betas that have been reported as being pure-play natural gas distribution companies.  Actually, you refer to them as pretty close to pure-play.  Can you describe to me, in your mind, what a pure-play distribution utility would be and what the greyness is with respect to pure-play, the greyness of what would be referred to as pretty close to pure-play versus pure-play?


DR. CARPENTER:  Right.  A pure-play would obviously have pretty well 100 percent of its assets and its earnings generated from gas distribution activities.  I don't think there's any company in North America that's publicly traded that fits that bill.  However, the nine that I selected have regulated activities as a percent of assets or a percent of earnings of typically 70 percent or greater.


MR. QUESNELLE:  Are you aware of any of them that may have variance accounts for their weather forecasting?


DR. CARPENTER:  Yes.  The majority of them in that list have weather normalization accounts.


MR. QUESNELLE:  I think you referred to a variance account.  I'm suggesting, as opposed to a forecasting with no correction, that would be more of a retroactive correction to the actuals?


DR. CARPENTER:  Right.  My understanding, in looking at the weather features of these companies, was that, to the extent they had weather treatment it is in normalization accounts as distinct from the forecasting approach that Enbridge does.  That's because, and I think as I mentioned, there tends to be more regulatory lag where there's not the annualized rate-based cycle, typically in the United States.  I will grant you that there's more lag associated with rate setting for these utilities.


MR. QUESNELLE:  Are you familiar with Enbridge's activities in the opportunity development and to the extent that they have an ongoing programs in fuel switching and other areas?


DR. CARPENTER:  I'm broadly familiar that they have those programs, efficiency programs and others, yes.


MR. QUESNELLE:  How would you compare, if you are able to, their activities or level of activities in that area as it would compare to the other utilities that you mentioned?


DR. CARPENTER:  I haven't looked carefully at that, but I know that DSM, demand-side management and efficiency programs, are pretty standard fare now amongst gas distributors in North America.


MR. QUESNELLE:  Well, I make the distinction between the DSM and what I'm referring to are growth programs and opportunity development programs that would expand the use of gas.


DR. CARPENTER:  I think that's probably fairly standard too, but I haven't studied the details of that for this sample.


MR. QUESNELLE:  Okay.  Thank you.


DR. CARPENTER:  Thank you.


MR. VLAHOS:  Mr. Boyle, questions from a couple of areas.


First of all, there was an exchange with Mr. Thompson today when he was questioning about depreciation rates and adjustments to those rates and changes in depreciation expense, and its link to revenue requirement.


Now, I don't know where Mr. Thompson will go with that information, with the answers you provided, but I think there was something on the record that was not clear to me, at least, and that is, when he tried to changes in depreciation rate/expense, if you like, to changes in revenue deficiency, and he talked about a gross-up.


Now, help me understand for a non-accountant, if I change one dollar in, say, salaries, which is a typical O&M item, then the change in deficiency would be one dollar.  Am I right in this?


MR. BOYLE:  That would be correct.


MR. VLAHOS:  If I change one dollar in depreciation expense, would it be one dollar or something different than a dollar?


MR. BOYLE:  That depends a bit, and I think where Mr. Thompson was going, as I understand, is the fact that depreciation on its own is not a tax-deductible expense, because it depends on, for tax purposes, a different schedule than the accounting depreciation.


In the case of Enbridge Gas Distribution, it wouldn't change - basically, a dollar depreciation would change by a dollar as well because tax is an independent calculation. 


Now, if you were to --


MR. VLAHOS:  I'm sorry, it would or wouldn't?  It would or it would not change by one dollar?


MR. BOYLE:  I believe it would change by the same dollar.  I'd have to think a bit about that, because depreciation expense is a pass-through, as well, just like an operating expense would be a pass-through.


MR. VLAHOS:  To the extent that it doesn't change by the same dollar, which direction would it go.  Would the revenue deficiency be higher -- I'm sorry, let's talk about a reduction in depreciation expense.


Would revenue deficiency be lower than a dollar or higher than a dollar?


MR. BOYLE:  I think it is just the dollar, because it is a pass-through.


MR. VLAHOS:  It would just be a dollar.  Okay.  And how does the CCA come into it?  You mentioned it depends on the CCA calculation, so your response of a dollar, it would be based on what, CCA being equal to the capital cost allowance being equal to depreciation expense; is that what that implicit assumption is?


MR. BOYLE:  That's my assumption, that if you add a dollar of capital and you're depreciating it, that the tax and the accounting would be the same, yes.


MR. VLAHOS:  Thank you for that clarification.


Now, the Board allows a deemed capital structure with 35 percent common equity, and has done so for some years.


To what extent does the company's actual capital structure attract that 35 percent, and does it deviate, and why, and is it a timing issue?  Can you help me with that?


MR. BOYLE:  It tracks it quite closely.  We do measure that on an actual and on a budgeted basis.  To be fair, we can't hit it exactly every year.  Our target is the 34 and a half to 35 and a half percent range.  What we do is we adjust the dividend payout of the company to target that actual level, so that the actual level will vary slightly from the 35 percent, but not on a material basis.


The actual is between 34 and a half and 35 and a half, the way we look at it, for the utility. 


MR. VLAHOS:  That's on the actual, not on the budget basis?


MR. BOYLE:  That's correct.  And we look in our budget to maintain that, so it may vary a bit from year to year, but on an actual basis it will be in that range.


MR. VLAHOS:  Thank you.


Finally, Mr. Boyle, you talked about what I would characterize as short-term pain for long-term gain.  There would be some impacts in the short term, if the Board were to allow a bigger thickness in the common equity, but in the long run it will pay off.  It will pay dividends in the long run.  So there must be a crossover point.  Can you help me where -- and I don't want you to respond to why it is so, but rather where in the evidence I can find that analysis where I can say, well, yes, it is indeed short term gain for long-term –- sorry, the other way around.  Short-term pain for long-term gain.


Have you done that analysis historically or prospectively?


MR. BOYLE:  I would say there's two components to that.  One is that there is the net effect of the lower interest expense from refinancing that occurs as part of that, and that is identified in the -- in my evidence-in‑chief, I referred to Exhibit A2 ‑‑ I'm sorry, A2, tab 5, schedule 2, page 5 of 6, where that shows the benefit of the lower interest expense and the debt levels in the formula as an $8 million savings in column 3, and the cost is the $10 million shown in column 4.


So we're not there in one year, but we would get there fairly quickly if you allowed that to continue.


Having said that, there is part of that that would occur naturally without the change in the equity level, and that does take some time.  And, to be honest, it's not in the ‑‑ there's nothing in the prefiled that shows exactly what that cross-over point in time is.  


It depends on the interest rates that apply at the time you do the refinancing for your maturing debt and the amount of that debt that is refinanced every year.


There is an interrogatory response that shows how your new issue test would change ‑‑ or your interest coverage would change over that period, but it doesn't specifically show when I'll call the cross-over point would be on a dollar basis. 


And to be fair, that is -- you can come up with virtually any year, if you want to make a certain assumption on what your debt refinancing rate will be.  You know, the lower I make it, the faster I can make that happen, but it's difficult to precisely identify when that would occur.


MR. VLAHOS:  Now, explicit or implicit in that calculation would be what basis points change to the interest cost of borrowing?


MR. BOYLE:  I estimate if you've got a 25 to 50 basis point change in interest costs, that would be a cost-effective way of doing it.


And the reason I say that is we do look at that at, I'll call it, the Enbridge Inc. level, because we need to make that same decision on a corporate basis.  And our view is that in Enbridge Inc.'s case, it's about five to seven years that it takes to make that effective.


MR. VLAHOS:  Okay.  So say for this year, for next year, if the approved common equity component was 38 percent, then you would expect to finance the next need, next requirement, or refinance at 25 to 50 basis points lower than you would have otherwise?


MR. BOYLE:  That's correct.


MR. VLAHOS:  All right.  Thank you very much for that.


MR. KAISER:  Right.  Just on that, Mr. Boyle, the short-term pain, as Mr. Vlahos refers to it, of moving from 35 to 38, that's the 9.5 million that you have in table 6?


MR. BOYLE:  Yes, or, actually, as Mr. Millar pointed out, it would be $10 million based on the settlement agreement information, which is at the Exhibit A2, tab 5, schedule 2.  So it would be 10 million.


MR. KAISER:  And then, as you've just indicated, the benefit side is that if you move to 38, your interest coverage is better and your borrowing costs go down by 25 to 50 basis points.  So assume that's right, and then it becomes a function of how quickly you refinance this debt.


And is that schedule predetermined; in other words, there's only a certain amount of debt ‑‑ I mean, the debt, presumably, has fixed maturity dates, and so you know presumably how much debt you can refinance over, say, the next five years?


MR. BOYLE:  Largely, yes.  There is occasionally the ability to redeem debt on an early basis, subject to meeting certain tests in the debt, and that does occur from time to time, and they have often what's called a Canada call feature, which, in certain interest rates environments and if your spreads tighten in enough, can make it economic to redeem the debt prior to its date of maturity.


MR. KAISER:  All right.  Let's suppose, for the sake of argument, that the Board agreed with your application and increased the equity from 35 to 38.


How much debt would you refinance over the next five years, and would it be affected by that or you would just refinance that amount of debt, anyway, just because it came available?


MR. BOYLE:  Largely it would occur naturally, as you indicated, but there might be some debt that could become economic in that case to exercise the early redemption feature on, but most of it would be ‑‑


MR. KAISER:  Let's just deal with what we know.  How much debt would be eligible for refinancing naturally, as you say, over the next five years?


MR. BOYLE:  There is an interrogatory which shows actual maturities over the next five years by debt issue and by amount and by interest rate.  That's on Exhibit I, tab 24, schedule 77, page 2 of 3.


MR. KAISER:  How much is that?


MR. BOYLE:  That shows that there is $270 million of debt which matures in 2008, $150 million in ‑‑ sorry, $100 million in 2009, $150 million in 2010, $150 million in 2011, $100 million in 2012, and 200 million in 2014.


MR. KAISER:  So we could use those numbers to calculate the benefit, assuming this 25 to 50 basis point reduction in the cost of borrowing is accurate.  And on that, is there any other evidence or authority or expert opinion that we could look to, other than what you've just told us, that if you increase the equity thickness from 35 to 38, your cost of borrowing would go down between 25 and 50 basis points?


MR. BOYLE:  To some extent, you could look at the spreads of other comparable companies that are slightly higher credit quality and what they would borrow at.  For example, we referred to earlier Hydro One and their spreads, which are lower than the Enbridge Gas Distribution spreads by, depending on the point in the curve, 10 to, I think in one case, about 30 basis points at the longer end.


So that would indicate that, all else being equal, if the credit quality improves to that level, that would be the savings that would occur for those issues.


Now, there would also be other savings that would occur as a result of that, and that's in your bank facilities on the short‑term side or the liquidity facilities that are also ‑‑ tend to be credit‑related, and you would ‑‑ Enbridge Gas has $1 billion of credit facility, standby credit facilities, and issues commercial paper that would also benefit from improved credit quality.


MR. KAISER:  Dr. Carpenter, do you have anything to add on that in terms of your experience in the States?


DR. CARPENTER:  I really don't.  It's a bit outside my expertise.


MR. VLAHOS:  Can I follow up on your point before we lose it?  Is there any evidence at all, Mr. Boyle, where I can find the impact of the lower interest rate or cost of borrowing to the non long‑term debt?  How would I do that?


MR. BOYLE:  We note in the prefiled evidence that there is a $1 billion credit facility the company has, and the costs on that currently are -- I believe it's 25 basis points as a drawn spread on that facility, but that is just identifying what the existing costs are.


MR. VLAHOS:  Okay.  Sorry, Mr. Kaiser.


MR. KAISER:  And, finally, Mr. Boyle, you were questioned by Mr. Janigan and Mr. DeVellis and indicated that you hadn't suffered any downgrade, and it wasn't a question that you hadn't been able to access capital markets.  Now, you made one statement that the decline in your financial position is largely due to weather.  We've seen in table 5 that there has been $107 million negative hit to earnings over the period '93 to '06 due to weather, cumulatively.  One year, '06, accounted for almost half of that, 57 million.  This is the famous 57 million we've heard about.


It seems to me that this is becoming the weather case.  Your colleague on your right has a partial solution to the weather problem, which is, get rid of Leo de Bever and come up with a better forecasting scheme, which he hopes would not result in a $57 million variance but something less.  You have a partial solution, which is, let's get the equity up from 35 to 38.


When you make your proposal to move from 35 to 38, and given your statement that your declining financial position is largely due to weather, what weather forecasting scheme are you assuming going forward; the current one or the one that is now being proposed by the company?


MR. BOYLE:  Sorry, I would just like to clarify.  I wouldn't say that the primary reason for the credit quality is the weather.  It is a factor.  The primary cause, in my view, is the squeezing of the coverage ratio that's caused that.  Now, it becomes a greater risk with that thinner coverage because of the weather variance that we have, and that weather variance is basically the bigger risk to the actual levels relative to the normalized allowed, if you will.  But I'm assuming that on balance going forward the weather risk is what I will call equal or  symmetrical, and that in the long run you will win as many dollars as you lose on a dollar basis.  I'm assuming a symmetrical weather model at that point.


MR. KAISER:  I guess the real point of my question was this.  You can check the transcript, but I think you'll find that some of the statements you made this morning suggested that the problem was largely due to weather.


Certainly in the '06 EBIT coverage thing, and this is K7.4, you've made the point that the coverage ratio fell from 2.10 to 1.75 simply as a result of weather?


MR. BOYLE:  Yes, that's correct.


MR. KAISER:  If we had a regulatory scheme where we took away the weather risk - that is to say, you got back the revenue that you lost simply because of the forecasting area, the 57 million in the case of '06 - would that reduce your need to move this equity ratio from 35 to 38?


MR. BOYLE:  Yes, it would.  It would reduce the need for that magnitude of movement.  I suggest there still would be a need for some equity thickness because of the credit quality issue I raised earlier, but there would be a reduced need for doing that, and therefore I think you could reduce the equity thickness from 38 percent level in that scenario.  Yes, I would agree.


MR. KAISER:  In that scenario what would be your recommended equity ratio?


MR. BOYLE:  I would suggest it would be about 37 percent.  You do need some strengthening, to about 2.15 times the level I would think is appropriate in that case, which would be about 37 percent, but you wouldn't necessarily need to go to the 2.2 times because of the weather variability being taken out of the equation.


MR. KAISER:  Thank you.  Mr. Shepherd?


MR. SHEPHERD:  Mr. Chairman, I'm sorry to interrupt but I see Mr. Thompson has left the room, and Mr. Vlahos asked some questions about a particular area that he had some cross-examination on.  I wonder if I could ask one question of clarification on Mr. Thompson's behalf, which I'll do my best to pretend I'm him if you like.


MR. KAISER:  Yes.  Well, you could try.


CROSS-EXAMINATION BY MR. SHEPHERD:

MR. SHEPHERD:  Mr. Boyle, Mr. Vlahos asked you whether changes in the amount you collect in rates for depreciation would be one for one to your change in the depreciation amount.  You said you thought that would be the case?


MR. BOYLE:  I think so, yes.


MR. SHEPHERD:  What I'm wondering is this:  The accounting depreciation is not deductible for tax purposes?


MR. BOYLE:  In the income tax calculation; that's correct.


MR. SHEPHERD:  Therefore to collect a dollar of extra accounting depreciation, assuming that the tax depreciation doesn't change, which it doesn't, doesn't that mean you have to gross up that dollar of accounting depreciation because it's going affect your taxable earnings?


MR. BOYLE:  I don't think so, because -- I'm trying to work through an example.  If I have $5 of depreciation expense in my regulatory calculations right now, and the UCC on that is whatever the UCC is, if I then deem my accounting expense to be $10, my UCC hasn't changed, presumably, because that is what it was.  Therefore my pre-tax income changes by $5 and my after-tax income by 5 as well, so I just need a $5 adjustment.


MR. SHEPHERD:  How does your after-tax income change in that circumstance if you're not changing the capital cost allowance?


MR. BOYLE:  The $5 flows straight through.


MR. SHEPHERD:  You have increased your revenue, but you haven’t increased your taxable deductions; right?


MR. BOYLE:  That's correct.   That’s why the $5 flows straight through, and to adjust for it, you just need to adjust $5 on a pre-tax basis.


MR. SHEPHERD:  Thank you.  Sorry to interrupt.


MR. KAISER:  Thank you.  Mr. Cass, any re-examination?


RE-EXAMINATION BY MR. CASS:

MR. CASS:  Yes, Mr. Chair.  Thank you.  I had a few questions.


Mr. Boyle and panel, towards the beginning of his questions, Mr. Janigan asked a number of queries about the expertise of members of the panel.


Mr. Boyle, could you please explain your direct experience in the dealings of the capital markets?


MR. BOYLE:  Sure.  I deal with the debt capital markets people on at least a weekly basis, if not sometimes on a daily basis, depending on if we're getting close to an issuance that we would be looking at to do in the market.  I also deal with the credit rating agencies on typically about a quarterly basis, with terms of updates and discussion with them on the credit profile of the companies that we have in the debt market in Canada and the US.


Also, I deal with the salespeople at the investment banks, which involves selling the debt on a very regular basis; again, weekly, if not a daily basis, depending on if we're maybe looking at a transaction.  Also the bond traders; we deal with them when we’re looking at what's happening in the market.  


So on a pretty daily basis I'm involved in various capital markets activities of the company, and looking at what is going on in the capital markets over those periods of time in time when we're looking to do financings.


MR. CASS:  Thank you.  Mr. Janigan brought forward the article that was marked as K6.1.  I think it was from Business Week.  You don't need to turn it up.


I think the point of his questions was to bring out that there's currently a good corporate credit environment.


Mr. Boyle, what does this current state of the corporate credit environment mean for the concerns that you've brought forward?


MR. BOYLE:  In the current corporate credit environment, things are very strong.  It means that some of the effects you would see from a lower credit quality are not as significant.  But if you look over the longer term, those issues become more significant.  In fact, I think there was a schedule that Dr. Booth had put in – I believe it was schedule 16 of his evidence - that showed the difference between corporate credit spreads of different quality credits.  Currently that showed that it's a very narrow band between the credits, but historically there have been very large gaps that occur in that market, as much as 2- to 300 basis points at times in the credit borrowing costs of a triple B company versus an A-rated company.


In those market issues, you're going to see a very significant change in your cost of borrowing depending on your credit quality.


Another way to look at the equity thickness is it's a bit of insurance, if you will, against being exposed to more volatile changes in your credit costs or your  refinancing costs if you happen to hit a weak market when you're having to refinance, you don't have the credit quality strength to be able to access the stronger part of that capital market.


Currently, though, it is -- it is on the lower end of that range - that's the 25 to 50 basis points - but it can be much larger in different credit environments.


MR. CASS:  Right.  Thank you.  I think for the next question, it might be best if I take you to yesterday's transcript.


Again, this was a question by Mr. Janigan.  It starts at the bottom of page 75 of yesterday's transcript.


At the bottom of page 75, Mr. Janigan was putting to you the proposition that with high embedded debt costs being retired, and interest rates staying roughly in that range, the problem goes away in four or five years.  You answered that, "If interest rates remain stable." 


And then you said:

"If interest rates actually decline, we will ‑‑ don't have this problem and it will get worse, actually, not better."


I'm not sure that your words came through clearly on the transcript.  First, can you just explain what you were saying will happen if interest rates actually decline?


MR. BOYLE:  Yes.  If interest rates continue to decline as they have over the last number of years, you're going to continue to have the situation where you're getting squeezed on your credit coverage ratios and your credit will continue to weaken, so that's the situation there.  


If the interest rates remain stable, the outcome that was noted would occur.  And, actually, if interest rates increased, it would be good for your coverage ratios, although not necessarily good for interest costs and ratepayers, but it would improve your credit quality in that case.


MR. CASS:  Okay.  Now, my question arising out of this, then, is:  Given this range of possible future scenarios around interest rates, what does your treasury group consider to be an appropriate planning for capital structure?


MR. BOYLE:  Well, that's one of the keys.  You need to consider all sorts of scenarios when we're doing our financial planning.  You just can't base your financing plan on one specific set of assumptions.  So you need to consider what would happen if interest rates go up or go down or remain stable.


And, again, that's why you need a bit of insurance or protection against certain outcomes, and that's why we're recommending the 38 percent equity thickness in this case, based on the existing business risks and the exposures we see.  And prudent planning for those contingencies -- I mean, or insurance, if you will, you need a certain amount of credit strength, and we believe that is the 2.2 times, and that's achieved with the 38 percent equity.


MR. CASS:  All right, thank you.  I have just a couple of questions arising out of Mr. Thompson's cross-examination this morning.


First of all, Mr. Adams had previously asked you about implications of rate design for addressing some of the concerns you've raised, and then Mr. Thompson came back to it this morning.


So I wonder, as a result of those questions that were asked of you regarding rate design, can you say whether these would be an answer to the concerns that you've raised or whether rate design would be an answer to the concerns that you've raised? 


MR. BOYLE:  They would potentially be a small part of that, but unless you've got 100 percent fixed costs, they would not be able to effectively do what you need to do through the equity thickness -- or, sorry, through the equity thickness and the weather exposure, because you're going to have that weather exposure as long as you've got variable rates that are related to volumes.


So it can address it to some extent, but it would not be a mechanism that you could really effectively address it in its entire magnitude.


MR. CASS:  Okay.  And now, secondly, arising from Mr. Thompson's cross-examination, he took you through some fairly -- at least to me, fairly complicated arithmetic based on the EBITDA coverage that he said Enbridge Gas Distribution would achieve if it had the same depreciation rates as Union.


I won't try to repeat the arithmetic.  Can you just explain what you think the Board can take out of this arithmetic that Mr. Thompson put to you?


MR. BOYLE:  I don't think it really means ‑‑ the EBITDA is really a measure that ratings focus on in terms of the coverage quality, because they assume that depreciation expense is, as we noted, recovered based on the characteristics of the assets of the utility, and while it is a measure that they do look at, it's not one they put a lot of weight on.


It's more things like your EBIT coverage, which is important; your leverage ratio, which is another key thing.  And they do look at something called funds from operation - FFO, funds from operation - to interest or funds flowing from operation to debt.  Those are the more significant ratios they look at.


MR. CASS:  Okay, Mr. Boyle, thank you.  Thank you, Mr. Chair.


MR. KAISER:  Thank you, Mr. Cass.  Thank you, panel. 

[Witness panel stands down]

We'll come back at 2 o'clock.  Mr. Cass, will you have the second panel ready?


MR. CASS:  Yes, sir.


‑‑‑ Luncheon recess taken at 12:55 p.m.

--- On resuming at 2:04 p.m.


ENBRIDGE GAS DISTRIBUTION INC. - PANEL 6


Norm Ryckman; Previously Sworn


Paul Green; Previously Sworn


Susan Clinesmith; Previously Sworn


Patricia Squires; Previously Sworn


MR. KAISER:  Please be seated.  Mr. O'Leary.


MR. O'LEARY:  Thank you, Mr. Chair.


Before we continue with the cross-examination, just two housekeeping matters.


EVIDENTIARY MATTERS:


For the record, I'd like to indicate that the company has filed Exhibit 6.6, which is a copy of Phase I of the Board's decision in the DSM generic proceeding, a decision with reasons dated August 25th, 2006.  That has been filed electronically, and there are hard copies available.


The second matter, sir, is that you asked the company to consider yesterday in respect of the potential budget for fuel switching and opportunity development in respect of low-income customers; you asked the company to consider its position in that regard, and I believe that the company is prepared to respond with the position at this time, if it's appropriate.


MR. KAISER:  Thank you.  Ms. Squires.


MS. SQUIRES:  Yes, we have considered what sort of allocation we could allocate to the low-income sector within the residential program budget.  And for consistency with the DSM decision last summer in the generic hearing, we feel at that it would be appropriate to commit to 14 percent of whatever the residential program budget is allocated to be after the settled O&M amount is allocated within the company.


MR. KAISER:  Thank you.  That's helpful.


MR. O'LEARY:  That's it, sir.


MR. KAISER:  Mr. Shepherd.


MR. SHEPHERD:  Thank you, Mr. Chairman.


CROSS-EXAMINATION BY MR. SHEPHERD:

MR. SHEPHERD:  You all know me, I think.  My name is Jay Shepherd.  I'm here on to ask questions on behalf of the HVAC Coalition.  The HVAC Coalition is made of up contractors that in almost all cases are big fans of fuel switching because, like, DSM, to be crass, it gives them more business.  However, we do have some questions about how you plan to go about it.    Let me start with Board Staff 25, which I guess the easiest place to find it is in Mr. Klippenstein's very helpful Exhibit K6.3, at page 3 of that exhibit, which is page 3 of Board Staff 25.  Do you have that?  


MS. SQUIRES:  Yes, I think we all have it.


MR. SHEPHERD:  Thanks.  Let me clarify a couple of things.  Column 3, which is labelled “Volume,” that's the volume of gas used for the projected number of units; right?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  That's for the first year, not for all five years of your model?


MR. RYCKMAN:  That is an annual, fully effective amount.


MR. SHEPHERD:  That handles my next question, which is:  That's not what you're expecting to get in the first year; once it kicks in, that's how much that many units will give you in a full year if they went into service on January 1st?


MR. RYCKMAN:  Yes.


MR. SHEPHERD:  In fact the volumes you're going to get in the first year are going to be significantly less than that because you're going to roll these things in over the year?


MR. RYCKMAN:  It would be less than the number shown there, yes.


MR. SHEPHERD:  Is it reasonable to assume half or something like that, or is there no shortcut?


MR. RYCKMAN:  That would be a reasonable assumption.


MR. SHEPHERD:  Then in column 7, you calculate five-year distribution revenue, and I assume that's five years of that volume, assuming a fully effective five years?


MR. RYCKMAN:  Let me make another clarification.  In the lines 8 and 9, where you have construction heat, that's fully effective in the year that it occurs.  So what you have is the volumes in column number 2 would be the fully effective volumes, so the volumes you would expect in a full year.  The five-year distribution revenue, what it takes is a 50 percent effectivity in the first year that it's attached, and then full effectivity for the remaining periods of time.  What you would have in the first year is you would have 50 percent of the revenue, and then for the remaining four years you would have 100 percent of the revenue associated with those measures.


In the second year you would have 100 percent of the first year's activity, and 50 percent of the second year.  And then after that it would be 100 percent fully effective. 


MR. SHEPHERD:  Okay, but I think I heard you say the other day that this is a plan that only deals with your first-year activity; right?  You don't have any partially effective in the second year in your distribution revenue analysis, do you?


MR. RYCKMAN:  No, that's... 


[Witness panel confers] 


MR. RYCKMAN:  No, that's correct, I'm sorry.  You're correct.


MR. SHEPHERD:  In simple terms, if we take a high-efficiency furnace, for example.


MR. RYCKMAN:  Yes.


MR. SHEPHERD:  What you're saying is, assume the amount of averaging it goes in halfway through the year and over the five years you get basically four-and-a-half years’ worth of volume.


MR. RYCKMAN:  Correct.  Yes.


MR. SHEPHERD:  And you're assuming some sort of escalator in the value of that volume in terms of revenues?


MR. RYCKMAN:  When you say escalator in the volumes --


MR. SHEPHERD:  No, in the revenues.  In column 7 you have a revenue figure.  So those 3,000 furnaces are going to deliver $3.7 million of revenue over five years, which, as I understand, is really sort of four-and-a-half years of revenue; right?


MR. RYCKMAN:  Yes.  No, basically the rate is held constant over that analysis.


MR. SHEPHERD:  See, you screwed up all my math.


What you're projecting, then, is that these 3,174 high-efficiency furnaces - let's just look at line 1 so I can figure out what you're doing here.


In year 2, let's say --


MR. RYCKMAN:  Yes.


MR. SHEPHERD:  -- you expect that they're going to bring you 6.49 million cubic metres.


MR. RYCKMAN:  Yes.


MR. SHEPHERD:  If you take four of those years plus half of another year, you get $3.7 million of revenue.


MR. RYCKMAN:  Yes.


MR. SHEPHERD:  I guess that translates -- I'm trying to do the math in my head, because it was the way I did it in the first place -- into somewhere around 13 cents per cubic metre?  13 and a half?


MR. RYCKMAN:  I don't have that number with me, but subject to check, that seems about right.


MR. SHEPHERD:  That's your gross distribution revenue from those assets; right?


MR. RYCKMAN:  Yes.


MR. SHEPHERD:  And so you're expecting that each of those furnaces is going to bring you, call it $1,200 of revenue; somewhere in that range?


MR. RYCKMAN:  Yes.


MR. SHEPHERD:  Feel free to stop me if I'm giving you numbers that you don't feel are in the right ballpark.  Precision is not important here.


Then, in column 8 - and I'm still looking at high-efficiency furnaces because it's the easiest - in column 8, you say let's calculate all of the costs and benefits over -- now, this is not five years anymore.  This is now the useful life of the asset, 18 years?


MR. RYCKMAN:  Yes.


MR. SHEPHERD:  All of the costs and benefits and present-value.


MR. RYCKMAN:  Yes.


MR. SHEPHERD:  You're present-valuing it at 5.95 percent; is that right?


MR. RYCKMAN:  I don't have that detail with me, but it would be the weighted average cost of capital.


MR. SHEPHERD:  If I look at one of your business cases in your filed evidence, where you use a present value number, it's the same approach, right, same number?


MR. RYCKMAN:  Yes.


MR. SHEPHERD:  Now, that NPV number, $2.31 million over 18 years, that's not really comparable to your 3.7 million of revenue, right, because the NPV number is margin, not revenue?  It deducts all your costs along the way of delivering that gas and of incenting it in the first place, the initial program cost?


MR. RYCKMAN:  I'm sorry, could you restate the question?


MR. SHEPHERD:  When you calculate the NPV.


MR. RYCKMAN:  Yes.


MR. SHEPHERD:  In addition to the revenues that are generated over the life of the assets, you also have costs of delivering those revenues, which is not in column 7; right?  You also have the initial costs of the program to get those out in the field in the first place; right?


MR. RYCKMAN:  Program costs are included.  And to the extent that it's a new customer being added to the system, there is incremental O&M that is factored into the analysis.


MR. SHEPHERD:  Then the one other thing I wanted to understand about this chart is column 6.


MR. RYCKMAN:  Yes. 

MR. SHEPHERD:  The cost per participant.


MR. RYCKMAN:  Yes.


MR. SHEPHERD:  And I looked at the transcript yesterday.  I thought you may have said this, but I couldn't find it.


Cost per participant isn't your cost.  This is the participant's cost?


MR. RYCKMAN:  That's correct.


MR. SHEPHERD:  Right.  There's nowhere here your cost; right?


MR. RYCKMAN:  Yes, there is.  Under the column number 5 are the program costs, and that's included in the analysis.


MR. SHEPHERD:  All right.  And so, for example, again, on line 1, if you have program costs of $108,000, then that's going to get you 3,174 furnaces.  That's what, about $40 each?  Less; $30 each?


MS. SQUIRES:  That math sounds about right, but you have to be careful with that number.  And in that program, in particular, looking at high‑efficiency furnaces is a little bit complicated, because we have a DSM program for high‑efficiency furnaces and the two programs work hand in hand.  So that's not a really clean example, if you will, where the -- this program actually leverages the DSM program to get the result.


MR. SHEPHERD:  I'm going to come back to that.


MS. SQUIRES:  Okay.


MR. SHEPHERD:  That was exactly where I was going.  You anticipate me, as usual.  So let's then focus on high‑efficiency furnaces.  


You're relying on this category for 86 percent of your TRC, right, $22.95 million out of 24.18 in your residential TRC?


MS. SQUIRES:  Well --


MR. SHEPHERD:  Or, I guess, no, 22.95 out of 26.67?


MR. RYCKMAN:  Correct.


MR. SHEPHERD:  Right?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  So that seems like a lot of new furnaces to me, because to my simple mind, if somebody already has gas service in their house, then they already have a gas furnace, probably.  Very unlikely that they would not have a gas furnace if they have gas service to their house; right?


MS. SQUIRES:  Probably, yes.


MR. SHEPHERD:  And so if you shift them to high efficiency, that's not fuel switching; right?  That's DSM?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  Okay.  So then what's the scenario in which you get 3,000 new high‑efficiency furnaces that you would call fuel switching?  Where do you have switching from?  How are you switching?


MR. GREEN:  Sorry, Mr. Shepherd.  That would be conversion from an alternate fuel - electricity, oil.  On an annual basis the utility adds between 6- and 8,000 non‑customers or, if you will, non‑gas customers to the system.  So they would be conversion‑type customers.


MR. SHEPHERD:  Okay.  So these are all people who don't have service, pretty well?


MS. SQUIRES:  Their assumptions are about three‑quarters of those would what we call non‑COMs, non-customers on main, and the balance would be existing customers.


MR. SHEPHERD:  And so two different issues.


The quarter that are customers on main, there are circumstances in which that sort of person doesn't have a gas furnace?


MS. SQUIRES:  This portfolio of programs is not ‑‑ we tried to clarify this yesterday.  I wouldn't characterize the whole portfolio as fuel switching.  It's growth and fuel switching.  It includes retention activities.  So it's not ‑‑ this is not positioned as 100 percent fuel switching.


A good chunk of it is, and certainly in the high‑efficiency furnace, three‑quarters of it is, but it's not 100 percent fuel switching.  It's 100 percent growth and fuel switching.


MR. SHEPHERD:  So the ones that you're talking about that are already on main, these are people who, if you didn't do something, they'd throw out their gas furnace and go to some other form of heating?


MS. SQUIRES:  Not necessarily.  We might have accelerated a decision to upgrade a furnace.  And in the case of the high efficiency, we've got customers that their base case would have been just to stay with a lower efficiency furnace.


MR. SHEPHERD:  But that would be DSM; right?  That wouldn't count here.


MS. SQUIRES:  Sorry, in that case you're right, yes.


MR. SHEPHERD:  Okay.  So go on.


MS. SQUIRES:  I think that would be primarily what we would be talking about, is we're talking about customers that are upgrading to a new furnace and accelerating that decision for them, or our material is helping them make that decision sooner than they otherwise would.


MR. SHEPHERD:  Okay.  So, so far, I haven't heard you tell me about anything where a customer on main is putting in a high‑efficiency furnace and is other than DSM.  Your example so far, all DSM, but this is not your DSM budget; right?  Completely separate?


MS. SQUIRES:  No, this is not our DSM budget.


MR. SHEPHERD:  All right.  So then can you give me an example of a customer on main that gets a high‑efficiency furnace and it's fuel switching?


MR. GREEN:  Well, not from a ‑‑ I don't have a number to pull from, if you will, Mr. Shepherd, but an example, a non‑customer on main installing a high‑efficiency gas furnace would potentially be a customer that, for whatever reason, only had a gas service in their home for a base-load application.  They may have only ‑‑ I don't know the number, but we do have base-load only customers that will be using natural gas for a water heater.  They could be using it for a water heater and a natural gas fireplace.  


So the conversion of the furnace, which is on oil or electric or another fuel other than natural gas, would be considered that conversion.


MR. SHEPHERD:  And so you're going to get about 800 of those this year?


MR. GREEN:  I don't have a number to ‑‑


MR. SHEPHERD:  Well, I mean, it's your program.  What's your program for getting at those people?  The people who just have water heaters, what's your program for getting at them?


MS. SQUIRES:  We have a number of initiatives that are what I would call business-as-usual initiatives.  We do direct mail campaigns to non‑COMs.  We have a non‑COM campaign where we send rebate offers or educational materials to these customers to show them the benefits of converting to natural gas.  


This is an ongoing initiative that we've done for several years.


MR. SHEPHERD:  Okay.  Do you happen to have an idea of how many residential customers you have that don't have a gas furnace?


MS. SQUIRES:  I don't have that number with me.


MR. SHEPHERD:  Could you find out?


MS. SQUIRES:  So you're looking for the customers that Mr. Green mentioned, the base-load only customers, customers that have a gas end use, but not gas heating?


MR. SHEPHERD:  They're on main and they don't have a gas furnace.


MR. GREEN:  But you could also have customers that are on main, but don't have a gas service.  Those are what we commonly refer to as non‑customers on main.  So I think that's the clarification that Ms. Squires was looking for.  


You could have a main in front of your home, but not be using natural gas, or I could have a natural gas service to my home and be using it for water heating or cooking or clothes drying.  Either way you would not have a furnace.


MR. SHEPHERD:  Okay, and I understand that.  I'm going to come to the attachment side of it in a second.  I'm asking, first, about the customers that do have a gas service and don't have a gas furnace, which I take it you're saying is a substantial number that you're going to get them to get a gas furnace this year?


MS. SQUIRES:  Our assumption for this particular program, as I said earlier, is that three‑quarters of the participants would be the non‑COMs, ones that have a main on their street but no service to their home, and a share of the remaining 25 percent would be, I think, the group that you're looking at or that you're asking us about, and that is ones that have a service, but no gas heat, specifically.


MR. SHEPHERD:  And what's the rest of that 25?


MS. SQUIRES:  New customers, system expansion customers.


MR. SHEPHERD:  So they're also attachments.  They're just attachments where you have to do system expansion first?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  All right.  So then let me understand this.  A hypothetical customer has a main going down the street, but doesn't have ‑‑ isn't attached.


You have those identified -- do you have a program to identify those people and get them attached?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  And that's not something new you're doing.  That's something you've always been doing; right?


MS. SQUIRES:  For many years, yes.


MR. SHEPHERD:  Now, then, you have this other 800, of which some of them don't have a main, and some of them have gas service, but no furnace.  So let's leave those last ones aside.  They're strange.


Just deal with the ones that are new attachments.  Your new attachments this year are 50,000.  How do you distinguish between the new attachments that you get, anyway, through normal growth and these additional ones, however many it is, 500, 600, 700, that you're counting for this purpose?


MS. SQUIRES:  We identify these because we've targeted these, and we have communicated with them and they have taken us up on the offer to make the conversion.


We don't -- we don't necessarily communicate to or send the direct mail to 100 percent of the non‑COMs.  These are targeted campaigns to get the conversion.  It might be targeted as certain regions, or they might be, looking at historical performance on this program, we'll target the campaigns.


MR. SHEPHERD:  Now, this part of your program -- and none of this is new?  You've been doing this all along?


MS. SQUIRES:  Non-COM campaign?  I can't say how many years exactly, but several years.


MR. SHEPHERD:  I'm looking at line 1, high-efficiency furnaces.  There's nothing in that line you've told me so far that isn't something that you weren’tdoing last year?


MS. SQUIRES:  Correct.


MR. SHEPHERD:  You're getting quite a lot of bang for your buck, $30 dollars per furnace, with a very high back-end NPV and TRC; right?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  By the way, are these results similar to what you've gotten in previous years?


MS. SQUIRES:  I would have to check.  I was going make this comment earlier, that the only difference might be in this portfolio that the scale is possibly different on individual line items, but I haven't historical year performances with me.


MR. SHEPHERD:  Do you think you could give me -- and I'm not going to ask this for all of this stuff, but this one line is interesting.  For line 1, can you give me the 2006 actuals.  Can you undertake to provide that?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  Thank you.


MS. SQUIRES:   For clarification, it's actual participants that converted to high-efficiency through our non-COM campaign?


MR. SHEPHERD:  Just identical to what you have here.  That line, the numbers in it, for 2006 actuals.


MR. MILLAR:  That will be undertaking J7.4.  


UNDERTAKING NO. J7.4:  2006 ACTUALS FOR LINE 1

MR. MILLAR:  And, Mr. Shepherd, you want a column added, essentially, showing 200 --


MR. SHEPHERD:  It's actually a row.


MR. MILLAR:  Pardon me, a row.


MR. SHEPHERD:  You don't need to add a row.  Just on a separate sheet of paper, identical to row 1, but for 2006 actuals.


MS. SQUIRES:  Okay.


MR. SHEPHERD:  Thank you.


MR. SHEPHERD:  I'm looking at your total TRC, and between high-efficiency furnaces and mid-efficiency furnaces, that's almost all your TRC.  You have some in here in your construction heat, but the overall net of the rest of the stuff is almost zero TRC; right?  Pretty close?


MS. SQUIRES:  It's pretty close, yes.


MR. SHEPHERD:  I wonder if I could go down to line 4.  Fireplaces.  You're going to sign up 5,303 new fireplaces, at a cost of $170,000.  That will get you an annual incremental cubic metres of 1,770,000; is that right?


MS. SQUIRES:  That's the proposal.


MR. SHEPHERD:  This, by the way, looks like the cubic metres of distribution revenues are at a lot lower rate.  Why would that be.  If you do the math and compare it to line 1, line 1 would be about 13, 13 and a half cents.  This is more like 9 cents.  Why would that be?


MR. RYCKMAN:  One moment, please.


[Witness panel confers]


MR. RYCKMAN:  I believe the difference there is in the  high-efficiency furnaces, for instance, where Ms. Squires said that you're attaching new customers, you have a customer charge that's included in that overall revenue, and then you net that against some incremental O&M that's applied to that customer attaching.  In the fireplace line, it's my understanding that these are existing customers, so you don't have that same situation.


So it's just the incremental distribution margin.


MR. SHEPHERD:  Sorry, I tried to make this clear at the beginning.  Obviously I'm confused.


I didn't think column 7 was distribution margin, I thought it was distribution revenue; isn't that right?


MR. RYCKMAN:  Yes, that's correct.  I'm using those terms interchangeably.


MR. SHEPHERD:  But they're not the same; right?


MR. RYCKMAN:  In this particular instance, the distribution revenue is what I'm terming distribution margin.  It's based on the distribution margin.


MR. SHEPHERD:  Are there expenses included in column 7 or not?


MR. RYCKMAN:  Are there expenses included?


MR. SHEPHERD:  Are there any deductions to it for costs you incur?


MR. RYCKMAN:  What that distribution margin or revenue is trying to capture is -- it's an analysis that's done by our rates department, so if we want to go into great detail, I may have to take an undertaking for that.


But it's meant to capture the revenue that would be associated if all of our distribution costs were recovered through the distribution margin.


MR. SHEPHERD:  I'm finding that that confused me more than I was before, which is hard to imagine.


The way I look at it, revenues are amounts you receive from customers?


MR. RYCKMAN:  Yes.


MR. SHEPHERD:  Margin is amounts you receive from customers less the cost to deliver the product?


MR. RYCKMAN:  I think in my mind where we may be crossing paths here is that revenue that you're receiving is based on a revenue requirement that is built up based on costs.  Within that distribution revenue, you're going to have a return on equity, you're going to have O&M, you're going to have taxes, you're going to have other items that create that overall distribution revenue.


If we need to go into more detail, it might be better to take an undertaking.


MR. SHEPHERD:  If it's possible for you to clarify what is in column 7, I'd appreciate it.


MR. RYCKMAN:  I'd be happy to do that.


MR. MILLAR:  J7.5.


UNDERTAKING NO. J7.5:  TO PROVIDE CLARIFICATION FOR 


COLUMN 7


MR. MILLAR:  And, Mr. Shepherd, that's to add more detail to column 7; is that the undertaking?


MR. SHEPHERD:  To explain what's in column 7.


MR. MILLAR:  Thank you.


MR. SHEPHERD:  that isn't actually where I was going.  I got myself confused there.


Mr. Klippenstein pointed out the other day, I think, that one of the problems with the fireplace line is that there's a large negative TRC.  And a large negative TRC means from the company's point of view it's profitable.  From an overall point of view, there's a net loss; right?


MR. RYCKMAN:  I wouldn't agree with that characterization.  The NPV would show that from a company perspective it's profitable.  From a societal perspective it's not showing as positive because once again, a large number of these are installing a fireplace where one didn't exist before. So you don't have offsetting avoided costs, you have added costs, due to the added gas load.


MR. SHEPHERD:  That's something I guess I didn't understand, and you can help me with this.


This is not fuel switching, right, because you don't have a situation where people are switching from one type of fireplace to another, typically?


MS. SQUIRES:  A share of the expected participants are fuel switching but, again, a share, as Mr. Ryckman described, are going from no fireplace to a gas fireplace.


MR. SHEPHERD:  When people buy a gas fireplace and they have a wood fireplace, that would be a negative TRC or positive TRC?


MS. SQUIRES:  I haven't run the numbers on that specific scenario, because we run the TRC analysis on the aggregate number of participants.  I can't answer that question with the information I have.


MR. SHEPHERD:  But generally speaking, you're assuming that these new fireplaces uses; right?  You're not doing the calculation on the basis that they had a choice between wood and gas, and they chose gas?


MS. SQUIRES:  We have made an assumption that approximately three-quarters of the participants are coming from another fuel source fireplace, which would be predominantly wood, and converting to gas.  The remaining quarter, approximately, are coming from no fireplace to a gas fireplace.


MR. SHEPHERD:  If it's a non-fuel switching situation - that is, they don't have a fireplace and you're selling them one - then how do you calculate TRC?  I thought TRC was intended to be a comparison of options.


MS. SQUIRES:  The TRC calculation on the benefit side includes a variable for avoided cost.  So in the case that we're talking about, where somebody's going from nothing to a gas fireplace, the avoided cost is zero in that scenario.


MR. SHEPHERD:  I see.  Now, you also have a negative on societal costs.  The societal cost test is the same as TRC, but adds in basically a value for externalities?


MS. SQUIRES:  For environmental emissions, yes.


MR. SHEPHERD:  And so in the case of somebody who doesn't have a gas fireplace, the societal cost is going to be bad, because you had no emissions and now you have some; right?


MS. SQUIRES:  In that case, yes.  The SCT would be more negative; that's correct.


MR. SHEPHERD:  But if you're going from wood to gas, the inclusion of emissions should actually be positive; right?


MS. SQUIRES:  Well, it's an interesting question, because the TRC calculation does not actually include a value for particulates, which is the predominant negative environmental externality of wood-burning fireplaces.  


So the weighted calculation actually does not capture that negative ‑‑ the improvement in the environment, if you will, from converting from wood to gas.


MR. SHEPHERD:  So your societal cost test should actually be somewhat better than that?


MS. SQUIRES:  If it were to include the value for particulates, yes, it would be.


MR. SHEPHERD:  All right.  Now, you have three lines where you have water heating as your focus.  Let me start with line 10, residential fuel-switching water heating.


What are your plans in that area?  How do you plan to do that?


MS. SQUIRES:  Again, this is an area where we have had program offerings in the past.  We have had a contractor rebate program to encourage -- through the contractor channel to encourage customers to convert to natural gas water heating, and we offer the contractor an incentive to promote that.


We have had some offers in 2006 ‑‑ late in 2006, we had a direct mail to customers that were not heating with natural gas and offering them a $100 rebate if they made the conversion to natural gas water heating.


So it's a number of initiatives that are done throughout the year.  Those are two examples.


MR. SHEPHERD:  All right.  Are you including in that any gas water heaters that are the result of new attachments?


MS. SQUIRES:  A very small share of them would be non‑COMs, but it's a very small percentage, non‑customers on main.


MR. SHEPHERD:  That raises the question in my mind, and maybe you've got it in another line somewhere, but if you're putting in 3,300 new furnaces, most of which are new attachments, as it sounds like, wouldn't you get pretty well all of them as water heaters, too?


MS. SQUIRES:  No, and, in fact, that's a -- that's been a concern of ours for the last few years in what we call the combination signing ratio, the percentage of customers that actually sign on for both heat and water heat, and that ratio has been in the decline over the last few years.  


So we're trying to increase that combination ratio, but it hasn't been as high as it was historically.


MR. SHEPHERD:  Okay.  Well, it's interesting that you say that, because I guess I thought that the problem with water heaters, the reason why there's a decline in market share, is that their capital cost is more expensive, and, in particular, the install cost is a big part of it; right?  It's much more intensive to install a gas water heater than an electric water heater; true?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  But if the gas feeders are in there anyway, installing a new furnace, that problem's gone; right?


MS. SQUIRES:  Well, it is not gone.  The customer still has to incur the cost of the installation for the gas water heater.


MR. SHEPHERD:  But the difference between electric and gas is much lower if the gas feeder is there, anyway, right, already installing the burner tip?


MR. RYCKMAN:  Not necessarily.  In some cases, those customers could have electric, and I would assume the larger percentage would have electric water heaters.  And they may not be necessarily installed in the same location as the heating equipment may be.  


So I don't know that you can just arbitrarily draw that conclusion that it's an easy install.


MR. SHEPHERD:  All right.  You're contemplating that you're going to spend $358,000 to get 1,500 new water heaters through fuel switching.  Then on line 11, you have another water heating line with ‑‑ which for a much lower cost, less than $20 a piece, you get 2,500.  Tell us the difference between the two.


MS. SQUIRES:  Well, what you're seeing here is the difference between the different types of initiatives and promotions that we do.  Some include rebates and some wouldn't include rebates, and that's why you'll see such different budget amounts for various levels of participants.


MR. SHEPHERD:  Okay, but tell me how line 10 and line differ.


MS. SQUIRES:  Well, that would be it.  It would be that line 10, the budget for line 10, would include some incentive amounts, whereas line 11 wouldn't.  And the initiatives in line 11 might be more communication and education based and would not include incentives.


MR. SHEPHERD:  Also, it's the same target.  This is not a different type of water heating program.  It's -- it's trying to achieve the same result a different way?


MS. SQUIRES:  Excuse me.


[Witness panel confers] 


MS. SQUIRES:  The two lines represent different program designs for the same objective.


MR. SHEPHERD:  All right.  So then why does line 10 have a negative NPV and line 11 has a positive NPV?  Is it just those upfront costs?


MS. SQUIRES:  Yes, the costs are what's driving that negative NPV on line 10.


MR. SHEPHERD:  Okay.  And why do the water heaters in line 11 have so much less volume than the ones on line 10?


MS. SQUIRES:  I'm afraid I don't have the answer with me.  I'd have to check some of the details behind them to answer that question.


MR. SHEPHERD:  Okay.  This is your chart.  These are your programs, aren't they?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  Because it looks to me like line 11, water heating, isn't actually new water heaters, but something else, because line 10 and line 7 both assume 680 -- roughly 680 cubic metres per water heater per year, which is the sort of number you would normally expect.


Line 11 doesn't; it assumes half that.


MS. SQUIRES:  As I said, I'd have to check the details able to provide an answer.


MR. SHEPHERD:  Would you do that, please?


MS. SQUIRES:  Yes.


MR. MILLAR:  K7. ‑‑ pardon me, J7.6.  Mr. Shepherd, can you summarize the undertaking, please?


UNDERTAKING NO. J7.6:  EXPLAIN THE DIFFERENCE IN 


VOLUMES ANTICIPATED FROM WATER HEATERS ON LINES 7, 10 


AND 11.

MR. SHEPHERD:  Yes, explain the difference in volumes anticipated from water heaters on lines 7, 10, and 11.


So let me just round this out.  Line 7 now is your low‑income water heaters; right?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  And the difference -- the primary difference there is you're going to basically spend more than $800 each to get these in; right?


MS. SQUIRES:  Well, this budget assumes approximately $800 per ‑‑


MR. SHEPHERD:  And that's basically the full price?


MS. SQUIRES:  Basically.  It actually understates the full price, but that was the intention of the program, was to cover as close to 100 percent as possible.


MR. SHEPHERD:  And so at the end of the day, these three lines produce -- produce 5,000 new water heaters; right?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  Roughly.  And about $250,000 a year of additional distribution revenue, give or take?


MS. SQUIRES:  Sorry, what was the amount of distribution revenue you mentioned?


MR. SHEPHERD:  I had about 250 a year for the total. Maybe it's 270.


MS. SQUIRES:  Are you looking at column 7?  Did you calculate that?


MR. SHEPHERD:  Yes, I'm looking at column 7. 

MS. SQUIRE:  To clarify, were you summing up the five-year distribution revenue for the three initiatives divided by 5?


MR. SHEPHERD:  Divided by 4.5, but, yes.


MS. SQUIRES:  Divided by 4.5.  Okay.


MR. SHEPHERD:  Precision is not required if we're in the right range.


MS. SQUIRES:  Subject to check I'll take your word on that, as long as I understand the math.


MR. SHEPHERD:  By the way, I notice in those three lines your TRC per unit is different on lines 7, 10, and 11.  Why would that be?  Aren't water heaters water heaters?


MS. SQUIRES:  Yes, but the TRC considers the program costs and the level of program cost for each of those initiatives varies.


MR. SHEPHERD:  TRC doesn't include the incentive, does it?


MS. SQUIRES:  That's correct.  But it does include program cost, so it might be helpful to think of them in terms of fixed or variable costs.  The TRC does not include variable costs, which we would call incentive amounts, but it does include fixed costs, so any sort of up front program, design, development, communication material, and that sort of thing.  It does include that.


MR. SHEPHERD:  The only significant difference in the cost of these three programs is the incentive cost, isn’t it?  The rest is almost exactly the same, isn't it?


MS. SQUIRES:  Not necessarily, no.


MR. SHEPHERD:  Finally, I'd like you to turn to line 12.  This is what you call elsewhere "lifestyle products"; right?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  That's garage heaters, pool heaters, and patio heaters?


MS. SQUIRES:  And pool heating.


MR. SHEPHERD:  But it doesn't include BBQs and grills, which are separate?


MS. SQUIRES:  That's correct.


MR. SHEPHERD:  Where do people buy those things?


MS. SQUIRES:  They might buy them in different places.  Pool heating, for example, is a very specific equipment type that is typically bought at pool heating retail outlets.  Outdoor living equipment such as patio heaters and so on can be bought at places like Home Depot and that sort of thing, outdoor patio stores, that sort of thing.   


MR. SHEPHERD:  There are some specialized installers who install this stuff, aren't there?


MS. SQUIRES:  Yes.  And some general HVAC contractors install this equipment as well.


MR. SHEPHERD:  Oh, really?  Okay.  The way you're planning to do this program is through advertising and point of sale displays, things like that; is that what I heard yesterday?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  It looks to me like you're planning to spend $310 each to get 550 of these installed.  That sounds to me like a lot of advertising and point of sale.  Am I missing something?


MS. SQUIRES:  This represents a mix of end-uses.  Some of them might be small numbers, some of them big numbers.  I would not expect that there would be a large number of patio heaters, for example, included in this, whereas there might be a couple of hundred pool heaters.  I suppose the numbers, unfortunately, they represent an average for all those equipment types, so they might not be illustrative of any one of them by themselves.  And the program communication may be different for pool heaters, or it will be different for pool heaters and for the other equipment types as well.


MR. SHEPHERD:  Can you turn to the previous page in this, which is K6.3, page 2, which is also I125, page 2?


This has here your 2006 residential budget and results; right?


MS. SQUIRES:  Are you referring to the table in Part C?


MR. SHEPHERD:  Yes.


MS. SQUIRES:  Yes, one of those lines in that table represents the residential market.


MR. SHEPHERD:  Now, the stuff you have on page 3, the things we just looked at, are those incremental to this, or are they in place of this?


MR. RYCKMAN:  They are incremental.


MR. SHEPHERD:  Incremental.  So, in addition to this 4.7 million that you spent on residential in 2006, you're going to spend another 3.3 million in 2007, for a total of 8 million on residential fuel switching.


MS. SQUIRES:  Over two years.  Yes, over two years that would be.


MR. SHEPHERD:  I asked whether it was incremental.  Is the $3.3 million budget replacing the $4.7 million budget, or are you going to spend 8 million in --


MS. SQUIRES:  The 4.7 is what we spent in 2006.   Those dollars are spent.  They're behind us.  2007 we are proposing a budget of the 3.0 million for the residential programs.


MR. RYCKMAN:  If you look at the last sentence just before that table, this was filed in EB-2005-0001, which was the 2006 rate case, so it's to the 2006 expenditures.


MR. SHEPHERD:  In residential, whereas you spent 4.7 million in 2006, you're proposing to spend 3.3 million in 2007?


MS. SQUIRES:  To clarify, the table in section C represents what was planned for 2006.  It doesn't represent actuals.


MR. SHEPHERD:  Oh, so you actually spent less.


MR. RYCKMAN:  The estimate is 3,577, which was shown in the Pollution Probe handout.


MR. SHEPHERD:  Sorry, what was that number again?


MR. RYCKMAN:  3,577.  So that's shown in... just bear with me for one moment... K6.3, tab 3.


MR. SHEPHERD:  I see.  Okay.


MR. RYCKMAN:  Labelled page 12 up in the top right-hand corner.  That's the market development bridge-year estimate for all of market development.  It's not directly comparable to the 4.7.  The 5.8 would be more comparable.


MR. SHEPHERD:  Your total budget for 2007, if you go back to page 3 for a second.  Your total budget is expected to be these program costs, which are about 3.5 million, plus the overheads, which I see here are 2.49 for residential and 1.68 for business; right?


MR. RYCKMAN:  Yes.


MR. SHEPHERD:  I add that up to get 7.7 million.  Does that sound about right?  You also have some --


MR. RYCKMAN:  Sounds about right.


MR. SHEPHERD:  Market communications and a couple of other things in there?


MR. RYCKMAN:  Yes.  Sounds reasonable.  Yes.  


MR. SHEPHERD:  One of the things that I didn't understand here, if you can go back to page 2 for a second, if you could, please.  Your proposal asks here to spend $4.7 million dollars, and you were going to get a net present value in the measure lives of only $1.9 million.  This year in residential you're proposing to spent $3.3 million, you're going to get a higher NPV.  Why is that?  


MS. SQUIRES:  The answer would lie in the mix of programs, in the differences between the mix between the two years, as we've discussed already, the different line items, different types of initiatives produce different NPVs and so on.


MR. SHEPHERD:  Also last year, in 2006, your 4.7 million was supposed to produce 43 and a half million of TRC, but this year you're proposing to spent less but get 26.7 million of TRC.


Is it fair to conclude from this, from the fact that your NPV is going up per dollar but your TRC is going down, that this represents a shift in your emphasis in your fuel switching programs?  More emphasis on NPV, less emphasis on TRC?


MR. RYCKMAN:  Just give me a moment, please.


[Witness panel confers]


MS. SQUIRES:  Directionally, what you've described is, in fact, what these numbers show.  However, you have to also consider some of the assumptions behind the NPV and the TRC calculations and how they might have changed over time as well, such as what the assumed distribution margin is, such as on the TRC side what the values of the avoided costs are for the various end-uses or for the various fuel types.  Without that information we don't have a complete picture of what's driving those changes.


MR. SHEPHERD:  So the Board can't look at last year's TRC and this year's TRC and reach any conclusions from it?


MS. SQUIRES:  Well, they can see what direction the TRC value has gone in, but the reasons why that has happened would require an examination of some of those underlying assumptions.


MR. SHEPHERD:  Okay.  Could you go back to page 3, please, and let's just look at the ‑‑ I'd like to look at the line that says "EnergyLink."  Do you have that?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  This part of your residential programs is supposed to give you 25 percent of your volumes, 30 percent of your participants and take 30 percent of the costs, right, roughly?


MS. SQUIRES:  Roughly.


MR. SHEPHERD:  And this line here doesn't tell you anything about what these ‑‑ what the programs are, how you're going deliver this 2 million of NPV or this $1.3 million of TRC, does it?  


MS. SQUIRES:  That line doesn't, but that information is provided elsewhere.


MR. SHEPHERD:  Indeed.  And so I wonder if you could turn to page 13 of Mr. Klippenstein's helpful Exhibit K6.3, and this is an excerpt he's provided us from Pollution Probe 15 ‑‑ sorry, Pollution Probe 3, which is Exhibit I, tab 15, schedule 3, and this is page 3 of that exhibit.


And this is a breakdown -- at the bottom here, this is a breakdown of how you're planning to get that much benefit out of the EnergyLink program for fuel switching; right?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  Okay.


MS. SQUIRES:  Sorry, to clarify, not necessarily just fuel switching, but growth -- growth activities.


MR. SHEPHERD:  Well, I shouldn't keep using that, because this is mostly load growth; right?  There's actually not that much that's fuel switching, right, in all of this stuff?


MS. SQUIRES:  I'm hesitant to put a proportion on it without actually doing some calculations.


MR. SHEPHERD:  Would it be fair to say that a majority of it is not switching from one fuel to another?


MS. SQUIRES:  I couldn't say that at this point.


MR. SHEPHERD:  On page 13 here, you have participant and volume numbers for the various components of the EnergyLink numbers; right?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  And those participant and volume numbers there, they use the same assumptions and format as the previous page 3 that we were looking at; right?


MS. SQUIRES:  They would assume the same -- the same volumetric growth assumptions as the programs.


MR. SHEPHERD:  I was actually asking a simpler question than that.  Participants means the number of people who are going to buy a furnace?


MS. SQUIRES:  That's correct.


MR. SHEPHERD:  Volumes means one fully effective year of volumes?


MS. SQUIRES:  Yes.  Yes.


MR. SHEPHERD:  For all of that number?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  Right.  And so if you just look at the first two lines, that's furnaces and water heaters.  Again, a little bit surprising to me that you would be getting people to switch to gas furnaces and water heaters in this way.


That's about ‑‑ that's more than half of your volumes, right, furnaces and water heaters?


MS. SQUIRES:  More than half of which number?


MR. SHEPHERD:  Of the volumes, 4.1 106 m3 or 4.2 106 m3 out of 8; right?


MS. SQUIRES:  Yes.  That's approximately half.


MR. SHEPHERD:  So tell us how EnergyLink causes HVAC contractors to sell more gas furnaces or gas water heaters?  How does it do that? 


MR. GREEN:  Sorry, Mr. Shepherd, could you just repeat that for us?  You're talking about EnergyLink?


MR. SHEPHERD:  I'm trying to understand how EnergyLink gets HVAC contractors, who, after all, are in the business of selling furnaces and gas water heaters -- how it gets them to sell more of them.


MR. GREEN:  Well, to answer that question from this perspective is that the EnergyLink program is a connection point between the consumer and the service provider.  So it's another channel.


MR. SHEPHERD:  I understand that.  What I don't understand is how you get an extra furnace or an extra water heater out of it.


MR. GREEN:  It's not -- it's not ‑‑ I don't think I would ‑‑ I'm not sure if I understand your terminology when you say "an extra."  It's not that we're getting two furnaces in a house.  We're getting a ‑‑ customers will use the EnergyLink channel, and we're in -- for purposes of the evidence here, we're saying that the EnergyLink program or the EnergyLink channel will generate 1,200 participants adding a furnace.


MS. SQUIRES:  I think the other thing to consider, when you look at these numbers and these projected participants under the EnergyLink heading, is that there is another element of EnergyLink which has not been launched yet, but that is EnergyLink retail channel, which is an expansion of the existing EnergyLink infrastructure.  And that's to engage retailers more in the promotion of natural gas equipment.


So you'll see some particularly large numbers, besides dryers, fireplaces, ranges, and some of those types of products, that we would expect to see some definite growth and possibility for fuel switching to gas end uses through that channel, as well.  So this represents our targets for both the HVAC side and the retail side.


MR. SHEPHERD:  Well, then I'm going to get to dryers and that stuff in a second, but I'm still trying to understand furnaces.  You're expecting to get 1,200 furnaces that you wouldn't have otherwise got, through contractors, using EnergyLink.  And as I understand it, EnergyLink just is a way of the consumer finding a contractor, right, in essence?


MS. SQUIRES:  Yes, it is.


MR. SHEPHERD:  So if I'm the consumer and I need a gas furnace, or a furnace, and I don't have EnergyLink, do I just say, Okay, I guess I won't get a furnace this year?  Is that what you're suggesting?


MS. SQUIRES:  No.  That's not what we're suggesting.


What the EnergyLink proposal is is that it facilitates a customer's choice and decision‑making with contractors that we believe and will give resources to to promote natural gas end uses.


MR. SHEPHERD:  How does that get you 1,200 more furnaces than you would have otherwise gotten?


MS. SQUIRES:  Well, one scenario might be that you have a customer that's on electric heat or oil heat that decides they need new heating equipment, but they haven't decided and they don't realize what the benefits of natural gas are, and through EnergyLink they get connected with a contractor that can provide them with that information and support and sell them on the idea of a natural gas piece of equipment, rather than just converting or upgrading their existing oil- or electricity-based system.


MR. SHEPHERD:  So the paradigm you're looking to is that individuals who have a furnace of a different type already are going to call up the gas company that they're not a customer of and ask you guys to tell them how they can get a gas furnace, and then EnergyLink will connect them up; right?  That is what you're thinking is going to happen?


MS. SQUIRES:  In some cases that will happen, yes.


MR. SHEPHERD:  And if there were no EnergyLink, they would simply get a new oil furnace?


MS. SQUIRES:  The assumption is that, yes, that's where a lot of these participants will come from.


MR. SHEPHERD:  You understand why that sounds a little strange; right?  It doesn't sound --


MR. RYCKMAN:  I don't find it that strange at all.  I mean, what EnergyLink is providing is easy access to natural gas products and services.  So if I'm a customer who has an existing oil furnace and I don't really know where to begin in terms of sourcing out natural gas appliances, it can become a burden to try to chase that down, and then to know what -- what products and services 

-- how to compare those things.


So I might be inclined to stay with the status quo, which could mean replacing my oil furnace, my failing oil furnace or aging oil furnace, with a new oil furnace.


I don't find it that surprising at all, quite frankly.


MR. SHEPHERD:  It's true, isn't it, that generally speaking HVAC contractors have a pro-natural gas bias when it comes to furnaces?  You don't find a whole lot of contractors who will sell an electric furnace or an oil furnace if they also offer gas; right?


MR. GREEN:  I don't have any evidence of that, Mr. Shepherd.  I think the element here is that the EnergyLink program is another channel for those customers to connect themselves with the service provider.


MR. SHEPHERD:  You don't know whether contractors have a pro-gas bias?


MR. GREEN:  Whether contractors have a pro-gas?  In general terms, all mechanical contractors?  No, I don't have a flavour of how many may be selling a predominant amount of gas or electric or propane.  


When the customer contacts Enbridge Gas Distribution, we know through the EnergyLink program, or certainly through any rebate offering, that they're connected with a service provider who has said that they provide the service or the product that the customer is looking for.


MR. SHEPHERD:  Mr. Green, you joined Enbridge in 2005, after, what, about six years at Direct Energy and its predecessor?


MR. GREEN:  My CV is in the evidence, sir.  I've been in the natural-gas industry for 30 years.


MR. SHEPHERD:  It was a simple question.  No tricks.  You joined Enbridge in 2005, after approximately six years at Direct Energy and its predecessor; is that right?


MR. GREEN:  That's correct.


MR. SHEPHERD:  Prior to that, you were about 23 years or so at Enbridge; right?


MR. GREEN:  That's correct.


MR. SHEPHERD:  In all that time your main focus has been selling natural-gas equipment; isn't that true?


MR. GREEN:  My primary focus has been promoting natural gas; that's correct.


MR. SHEPHERD:  But you don't know whether HVAC contractors have a pro-gas bias, on average or in general?


MR. GREEN:  They provide the service that the customer is looking for.


MR. SHEPHERD:  The two lines, furnaces and water heaters, that you have here at the top, which are more than half of your volumes, they have a positive TRC of around $10.2 million.  Can you accept that, subject to check?  You can take an undertaking, if you want.


MR. RYCKMAN:  I'm sorry, could you repeat that, please?


MR. SHEPHERD:  The positive TRC of the furnace and water heaters lines under EnergyLink is approximately $10.2 million?


MS. SQUIRES:  I would have to check.  I don't have that information.


MR. SHEPHERD:  Would you undertake to provide that information, please?


MS. SQUIRES:  Yes.


MR. SHEPHERD:  Thanks.


MR. MILLAR:  That's J7.7.


UNDERTAKING NO. J7.7:  TO VERIFY TRC AMOUNT OF 


$10.2 MILLION FOR FURNACE AND WATER HEATER LINES

MR. SHEPHERD:  I have a couple of other questions on this.


HVAC contractors don't generally sell gas fireplaces;  most of them?


MS. SQUIRES:  My understanding is that they do not sell the equipment.  Some may install, but my understanding is that most do not sell them.


MR. SHEPHERD:  Very few of them sell anything else other than heating and air conditioning equipment, water heaters and a few of them selling fireplaces; right? 


MR. GREEN:  I'm sorry, Mr. Shepherd, I don't have a lot of the, if I could refer to it as some of the EnergyLink material, with me to understand how many do or how many don't.  I know we have some understanding of, to further what Ms. Squires has said, how many provide the service of the installation of a natural gas fireplace, and there may be some mechanical contractors that actually have showrooms, but I think that I would defer that to when the EnergyLink panel, open bill panel, is here with you, sir.


MR. SHEPHERD:  You're in charge of the EnergyLink Program; right?


MR. GREEN:  I'm one of the participants in putting the program together, yes, sir.


MR. SHEPHERD:  You're anticipating that you're going to get 5,303 fireplaces under the EnergyLink program.  That's the same number as you have in the fireplace program on page 3.  Is that just coincidence?  5,303 is the same in both places?


MS. SQUIRES:  I personally can't say if it's a coincidence or not.  The reason that I can't answer that is that I wasn't in this position when these numbers were developed, but it's likely that the assumption was that EnergyLink would allow us to double our reach of fireplace sales in the market through EnergyLink, HVAC and retail.


MR. SHEPHERD:  Ms. Squires, you didn't participate in the design or development of the EnergyLink program, did you?


MS. SQUIRES:  I have been participating in the EnergyLink development since February of 2006, or for about one year.


MR. SHEPHERD:  And by that time the program had already been designed.  You were then asked to give feedback on the design; right?


MS. SQUIRES:  Some elements of it had been designed by them.


MR. SHEPHERD:  I take it that if you have 5,303 fireplaces under EnergyLink, that you'll end up with the same NPV and the same TRC as you would in the main program?


MS. SQUIRES:  Not necessarily, because it depends how we promote the fireplaces through the EnergyLink channel.  Again, in all of these cases, you cannot assume that there's only one initiative, one offer, one promotion that's getting these results.  It will be a series of promotions and offers with various program costs involved.  So, no, that's not correct.


MR. SHEPHERD:  Can you undertake to tell us what the TRC is for fireplaces under the EnergyLink program?


MS. SQUIRES:  Yes.


MR. MILLAR:  J7.8.


UNDERTAKING NO. J7.8:  TO PROVIDE TRC FOR FIREPLACES 


UNDER ENERGYLINK PROGRAM


MR. SHEPHERD:  It's still going to be some big negative number; right?  It’s still fireplaces, so whereas we had negative 6 million in the main program, it's not going to be suddenly plus 5?


MS. SQUIRES:  When you're talking about the TRC, where we have zero avoided costs for a large share of the participants, that's likely to be the case, that we would have a negative TRC, but that doesn't necessarily mean that we would have a negative NPV.


MR. SHEPHERD:  By the way, on fireplaces, I assume that most of that you're expecting to promote through retailers, not through contractors?


MS. SQUIRES:  I can't give you a split at this time about how that would be divided up.


MR. SHEPHERD:  You've said that not very many contractors sell fireplaces.  Presumably it means you have to promote them through Home Depot and places like that; right?


MS. SQUIRES:  We will be doing both.  Part of what we don't know is how the existence of the EnergyLink program will incent contractors to take on additional end-uses, if you will, and promote them themselves if they see business opportunities in doing so.  That has yet to be seen, so I can't break down how that might unfold as the year progresses.


MR. SHEPHERD:  I'm going to ask you to turn to, if I can find, Exhibit I, tab 26, schedule 4, attachment 2, at page 14.


MS. SQUIRES:  Could you repeat the reference, please?


MR. SHEPHERD:  Exhibit I, tab 26, schedule 4, attachment 2, page 14.  It's on the screen.  I'm looking at section 4(e).  There we are.  Stop. 


I put it to you, witnesses, that this tells you exactly how you are going to get the contractors to sell fireplaces and lifestyle products and everything else, because this program says, if I understand this correctly, the participant - that's the contractor - will participate in and actively support Enbridge's added load/DSM campaigns.


You have a campaign for fireplaces.  They don't have a choice.  They sell them or you kick them off; isn't that right?  Isn't that what the agreement says?


MR. O'LEARY:  Mr. Chair, if I might.  Sorry for the interruption, but there will be another panel that's going to be coming up that will be speaking to the EnergyLink program, and my friend has asked a number of questions which are kind of close to the line of that panel.  


I've sat back and allowed those questions to continue without interruption, but this is -- when we get into an exhibit that is clearly directly relating to the EnergyLink program, I respectfully suggest through you, Mr. Chair, that it is something that should be put to that panel, when the entire panel is here, and they can speak to what's contemplated by this draft contract.


MR. KAISER:  I think that's right, Mr. Shepherd.  Is there any reason why we can't deal with this with that panel?


MR. SHEPHERD:  Then the difficulty is that then I won't have the fuel-switching people here and I can't ask them ‑‑ because part of our thesis, I guess, is this isn't really fuel switching.  They're trying to pretend it's fuel switching because it's more palatable to the Board, and the only way I can get at that is to say to the witnesses who know about fuel switching, How are you going to do this, and get them to answer, I don't know.


MR. KAISER:  Well, Mr. O'Leary, rather than debate this, if the witnesses can't answer it, they can just defer to the other panel.


MR. O'LEARY:  That's fine.


MS. SQUIRES:  Can you repeat your question, please?


MR. SHEPHERD:  My question is:  Isn't it correct that the reason ‑‑ the way you get the contractors to sell fireplaces is you set up a campaign and they are then obligated to participate in it; they have no choice?


MR. GREEN:  That's not -- that's not a correct characterization, Mr. Shepherd.  It's that the participating EnergyLink program participants, through their contract or through their application, identify which products and services that they are engaged in, so when a consumer is coming through the EnergyLink program, either through the call centre or through the Web portal, and saying, I am looking for an individual that can provide me with a fireplace, if they've identified in their application that they provide that fireplace, then ‑‑ and pardon the ‑‑ I'll use the term "connection" -- we can create that connection that the customer is looking for with the service provider.


It's not an absolute obligation that the EnergyLink participant has to install or sell fireplaces.


MR. SHEPHERD:  Why ‑‑ 


MR. GREEN:  It's providing them with an opportunity that says, These are the products and services that I'm engaged in, and that ‑‑ that I'm engaged in, and it allows the customer to be connected with that service provider.


So they may not be doing fireplaces.  They may not be doing a range or a ‑‑ a gas range or a gas dryer appliance connection.  And if they don't, then it wouldn't, if you will, be offered for the consumer to self‑select that service provider.


MR. SHEPHERD:  So if this agreement doesn't say that, then you've got to get it changed; right?


MR. GREEN:  Well, I ‑‑ the comment is that it participates in and actively supports its Enbridge added load/DSM campaigns, which is noted at Exhibit I, 26, 4, attachment 2, and I'm reading from -- I think it's page 4 of 25, for the record, sir, item E, under "Service and Program Obligations."  


Again, there the participant is describing what service and what products they provide to the marketplace, if you will, and that's -- it's somewhat fluid, if you will, because over time they may say, I'm in fireplaces.  Gee, I'd like to get involved in -- I am doing range and dryer connects.  


They can go in and change their portfolio, so that when a customer is dialing in, if you will, for that specific service and now that the service provider, the mechanical contractor, says, That's in my portfolio, I do that, then they, if you will, are offered up in that round‑robin system, Mr. Shepherd, to the customer.  Then the customer may select them.  


But if they don't provide that service, then we're not creating a false connection or a false expectation with the customer to an organization that doesn't provide that service.  That's what item E is referring to.


MR. SHEPHERD:  Thank you for that explanation.


I have just two other questions of this panel, Mr. Chairman.


MR. KAISER:  Thank you.


MR. SHEPHERD:  Let me first ask a question about water heaters.


And I think, Ms. Squires, this is for you.  The primary reason why you're losing market share, as I think we've identified, is that the installed cost of the gas water heater is significantly more than the installed cost of the electrical water heater?


MR. GREEN:  I think there's two elements to that, Mr. Shepherd.  One of those elements, as Ms. Squires alluded to, is there is certainly that concern of first‑time cost, capital cost, for the natural gas water heater.  But that's not the only element.


One of the other elements, as we alluded to earlier, where we have realized market share, and, again, I don't have my EnergyLink materials with me, so we can pick that up again when the EnergyLink panel is here, sir.


So I'll beg for your indulgence for a little bit, subject to check of the numbers.  But you were talking earlier, when we talked about a consumer or a customer converting from an alternate fuel.  


Back in 2000, if my memory serves me correct, and subject to check of the numbers, when a customer converted from an alternate fuel, electricity to oil to natural gas, at the time of conversion, 70 percent of those customers installed a natural gas water heater at the same time that they installed the natural gas furnace.  


And as Ms. Squires alluded to earlier, we've witnessed a significant downturn in that actual percentage at the time of conversion, and today it is, subject to check, at or about 26 percent.


MR. SHEPHERD:  And the reason for that is capital cost?


MR. GREEN:  No, I would suggest it wasn't only because of capital cost.  I would suggest it was because of service providers.


MR. SHEPHERD:  Service providers are selling them electric ‑‑


MR. GREEN:  A number of service providers in the market -- it could be two things -- a couple other dynamics happen here, Mr. Shepherd.  

One, a customer, whether they were predisposed, or whatever, with the interest in renting a natural gas water heater back in 2000, how many of them ‑‑ how many service providers were providing a rental product.  So they had the option, obviously, of, if it was rental, who they could ‑‑ what organization they could go to to secure a rental piece of equipment.


B, many mechanical contractors, I would suggest, would offer the sale of the natural gas water heater, or the mechanical contractor didn't promote the sale of that product, i.e., the natural-gas water heater, because they didn't have another economical offer in their sales kit, in their portfolio, to offer to that customer.  So if they weren't going to ‑‑ if they didn't want to necessarily offset the sale by adding another $1,500 -- $1,000 to $1,500 for the water heater purchase, they didn't have a rental offer to provide to the customer, so that piece of equipment wasn't converted.


MR. SHEPHERD:  So the problem can be solved by having a rental program; is what you're saying?


MR. GREEN:  No.  Well, no.  I think the problem can be solved by, if I've understood your question correctly, say, having more rental providers, having a rental offering.  And today, in 2006, there's a number of rental service providers.


MR. SHEPHERD:  So I take it your water heater percentages are going back up?


MR. GREEN:  We sure hope that's what will happen.  And, with respect, the EnergyLink channel will hopefully connect those customers where they are ‑‑ well ‑‑


MR. SHEPHERD:  I wasn't asking about EnergyLink.


MR. GREEN:  I'm just making a statement that if the customer is looking for a purchase of a rental water heater ‑‑ sorry, I misspoke.  If they're looking to purchase a water heater or if they're looking to rent a natural gas water heater, optionality of how many service providers are in the marketplace today.


The end target, the end goal, sir?  Exactly.  We to need to see that percentage of natural gas water heaters go up.


MR. SHEPHERD:  You're familiar with CSA B149?


MR. GREEN:  I know the B149, not intimate knowledge of the B149 act but...


MR. SHEPHERD:  And what is this ULS636?  This is a new requirement, as I understand it, that will require more extensive venting of gas water heaters in the future; correct?


MR. GREEN:  I didn't bring my binders down for the EnergyLink and open bill, but there was an interrogatory, I believe submitted by HVAC - I can't quote the number off the top of my head - that talks about ULC636.  It has to do with plastic venting.


MR. SHEPHERD:  I'm not asking an EnergyLink question here.  I know I sometimes tend to be one-dimensional, but not in this case.  I'm actually asking a water-heater question.


You have a problem with a new technical requirement, right, that makes it less attractive to have a gas water heater; isn't that correct?


MR. GREEN:  I want to be careful about the characterization of "less attractive" -- is that the company is aware now of a code requirement for an upgrade for the type of plastic vent that has to be required, and it is going to have a burden of increased cost for replacement.


I would characterize this similar to the episode, if you will, that we went through with the flammable vapour.  There is obviously an issue that hasn't been fully analyzed from the company perspective, with all due respect, as to what impact that will have on the installation of a natural-gas water heater.


MR. SHEPHERD:  Obviously you're not going to compromise safety or anything like that, but presumably you're trying to figure out some sort of strategy to deal with this, because it could have a significant impact; right?


MR. GREEN:  That's a fair statement, Mr. Shepherd, but I've said before you this afternoon, not having a full understanding from an industry perspective of how we will be able to respond to that challenge, obviously, there's a lot of dialogue that needs to go on with equipment manufacturers, the industry service providers, as to what may or may not be an equitable solution to the new code requirement.


MR. SHEPHERD:  Mr. Chairman, my apologies for going overlong.  I actually cut some stuff out, but my apologies.


MR. KAISER:  Thank you, Mr. Shepherd.  


Mr. Millar, any questions?


MR. BUONOGURO:  I believe Ms. Girvan may have a couple of questions, and then I probably will have five minutes.


CROSS-EXAMINATION BY MS. GIRVAN:


MS. GIRVAN:  Just a couple of minutes.  Hello, panel.  I have a few limited questions.  It goes to what I would call the benefits to ratepayers of fuel switch and how to ensure that those benefits flow to your ratepayers.    I missed Mr. Poch's cross-examination yesterday, but I think he touched on a few things, and I want to clarify some points.


Has the 2007 revenue budget been adjusted to reflect the impact of your fuel-switching and load-building programs?  


MR. RYCKMAN:  The Board Staff 25, so the numbers that are in there we have taken into consideration the load impacts of these initiatives in our volumetric forecast.


MS. GIRVAN:  Thank you.  Now, if, for example, the Board accepts the arguments of GEC and/or Pollution Probe, what might be I'd say potential arguments -- I'm not sure what they're going to argue, but if they do argue that your fuel-switching efforts need to be ramped up, would you agree that your revenue forecasts also need to be adjusted to reflect what you would expect from increasing your efforts?


MR. RYCKMAN:  I can't say that with certainty because one of the things that will happen out of the settlement proposal, we need to go back and revisit our budgets and how those budgets will be allocated, not just within opportunity development but amongst the company.


If we have less to spend on these programs, I would expect that the revenue associated with these programs would be less as well.


MS. GIRVAN:  I guess what I'm really saying is, if the Board made a finding that you needed to spend more on these programs, would you see the need to correspondingly increase your revenue forecast?


MR. RYCKMAN:  Intuitively, that would follow, that if you're you undertaking more activity, generating more volumes, more revenue, yes.


MS. GIRVAN:  Thank you.


You had some discussion discussions with Mr. Poch regarding the OPA.  I think it's sort of common knowledge that as part of the CDM component of the OPA's integrated power system plan, they've identified fuel switching as some of the opportunity.  Would you agree with that? 


MS. SQUIRES:  Yes, I'd agree with that.


MS. GIRVAN:  Does your budget include anything related to initiatives that you may jointly pursue with the OPA, or through one of the OPA's programs?


MS. SQUIRES:  Our budget does not explicitly include an assumed financial input from the OPA.  However, the programs are such that some of them could fairly easily accommodate a partnership, but we have not included any assumptions about financial contributions from other parties.


MS. GIRVAN:  If EGD actually got some money, some funding from the OPA to pursue fuel switching, how would the benefits of those initiatives flow through to ratepayers?


MR. RYCKMAN:  Benefits over time would flow through to ratepayers, provided that that fuel switching initiative was cost-effective to begin with.  Over time the added loads should reduce rates; once again, over time.


The benefits would flow through to ratepayers in that respect, but there could be some short-term rate impacts.


Also, to the extent that those same customers benefit through benefits on the electric side, those could flow through as well.


MS. GIRVAN:  You've talked about lower rates, but would you agree with me this that would only occur if the revenue requirement in rates were adjusted to reflect those activities?  Sort of where I'm getting at is potentially down the road if we had an incentive regulation plan, which is coming - I think it's general knowledge that it is coming - ratepayers won't get the benefits of lower rates unless rates were adjusted to reflect those activities.  Would you agree with that?


MR. RYCKMAN:  It would depend on how the incentive regulation regime was structured.


MS. GIRVAN:  But if, for instance, 2007 was your base, ratepayers wouldn't see the benefits of lower rates until those rates were rebased.  Would you agree with that?  


MR. RYCKMAN:  The scenario you're proposing is that revenues increased; they're not built into your revenue requirement?


MS. GIRVAN:  That's right.


MR. RYCKMAN:  And if there was no adjustment made, then yes, those...


MS. GIRVAN:  To be clear on this, if, for example, EGD got, hypothetically, an additional $20 million, say, in 2007, and from the OPA, through one of its programs, the benefits would flow directly to your shareholders until rates are rebased.  Would you agree with that?


MR. RYCKMAN:  Potentially, again, depending on how the starting point of incentive regulation and the regime is actually structured, that could be true.


MS. GIRVAN:  Thanks.  That's really what I'm getting at.  Any increased efforts on your part, 2007, and then potentially beyond, won't flow to ratepayers unless the revenue requirement and the resulting rates were adjusted?  You've agreed with that?


MR. RYCKMAN:  Once again, if you don't have a mechanism to adjust for that, then those benefits would flow through at a rebasing period.


MS. GIRVAN:  But not until then?


MR. RYCKMAN:  That would be my understanding, yes.


MS. GIRVAN:  Okay.  Thank you.


MR. KAISER:  Thank you.  Mr. Buonaguro.  


MR. BUONAGURO:  Thank you, Mr. Chair.  I was wondering if I could ask a couple of clarification questions with respect to the company's response to your question about an adjustment to the low-income spending.


MR. KAISER:  Go ahead.


MR. BUONAGURO:  I'll move over there so they can see me.


CROSS-EXAMINATION BY MR. BUONAGURO:

MR. BUONAGURO:  Sorry, I just have a couple of clarification questions with respect to the company's response to the Chair's question yesterday with respect to the low-income floor.


Perhaps we can put up I25, Board Staff Interrogatory 25.  Yes, that's the one.


Could you please restate for me what it was that you were proposing to commit to?


MS. SQUIRES:  The company has indicated that we would be prepared to commit to a spending floor within our residential program budget to be allocated to the low-income sector, and that floor would be 14 percent of whatever the budget is that is ultimately allocated to residential programs after the settled O&M amount is allocated within the company to the various departments.  


MR. BUONAGURO:  Now, as I understand table 1 of this interrogatory response, could you ‑‑ well, actually, could you show me ‑‑ well, sorry.


I understand this to be your total fuel-switching budget proposed for 2007?


MS. SQUIRES:  Growth and fuel switching.


MR. BUONAGURO:  Growth and fuel-switching budget.  Could you show me what the 14 percent would apply to if this was your budget, if this was the budget you were going ‑‑ I understand you are going to adjust it or may adjust it, but what would the 14 percent apply to here?


MS. SQUIRES:  It would apply to the 3,029,788, which is column 5.  There's no line number, but it's after line 13. 


MR. BUONAGURO:  And setting aside for the moment that you're committed to a $181.5 million other O&M budget and that you have to make adjustments to fit within that budget, I assume that from the perspective of the opportunity and development panel, with respect to opportunity and development, do you consider $3,029,788 in residential growth and fuel-switching budget to be something you can spend responsibly?


MS. SQUIRES:  That's what we had proposed to spend, assuming that the entire O&M amount that the company had asked for was approved, which, of course, it hasn't been.


MR. BUONAGURO:  And further to that, you also would have considered, because you proposed it, that of that $3 million, approximately 33 percent of it should be spent on the low‑income water heater fuel-switching program?


MR. O'LEARY:  Mr. Chair, in fairness, Mr. Buonaguro had an opportunity to ask that very question yesterday, and I understand the reason why you're offering him an opportunity to ask questions about the company's commitment now, but I thought the questions would be limited, and I suggest, with your concurrence, that it would be appropriate that the questions be limited to what the company has now said it would commit that it was going to do, rather than ‑‑


MR. KAISER:  Well, I was going to ask the same question, so I'm -- the proposal that we had before us before, as Mr. Buonaguro has just pointed out, was to spend approximately a third of your budget on low‑income fuel switching.  Now you're saying, Well, we're going to commit to a minimum of 14 percent.  But that is simply the -- is that simply the floor, or are you saying, No, we're going to drop it from 33 percent to 14 percent?


MS. SQUIRES:  That's a floor, and that was intended to give some reassurance to the parties that we would not eliminate our spending on low income based on the newly settled amount of O&M, because we recognized there was some uncertainty amongst the parties about what number we would end up with.


MR. KAISER:  Right.  But I think what I had asked you yesterday, and I can understand why Mr. Buonaguro is not clear, I was asking you if you could -- even though Mr. Ryckman and others didn't want us to micro manage, we know that all of these numbers have to be reduced, to some degree, because of the settlement agreement, but given the size of this and given the interest in this one item, if you can turn your mind to what you actually might be spending.  


I take it, from what you've said now, you really haven't answered that question.  You've just said, We won't go below 14 percent?


MR. RYCKMAN:  That's correct.


MR. KAISER:  You're not telling us what the equivalent is to $925,000 in the new world?


MR. RYCKMAN:  That's fair.  One of the things that ‑‑ the unknown is we don't know what our budget will be, and then once we have that determined, we'll have to look at the mix of programs within that budget and realign things.


So to come up with a number at this point is something that we're unable to do.  So what we were trying to do was bring forth a commitment that we won't abandon a focus on low income, that we would have a floor of 14 percent, and that's not to say that we would restrict it to 14 percent of the residential program budget.  That is a floor.


So that we would maintain a commitment, and this is also consistent with what is done on the DSM side.  So on the DSM side, it is worded in a similar way, in that the 14 percent is a spending floor, because, once again, your budgets change over time.  So ‑‑


MR. KAISER:  I understand that concept, but what led you to conclude in your application that it should be a third; not 14 percent, but a third?


MS. SQUIRES:  Well, at the time that this application was made or the budget was established for this portfolio, I don't believe that the decision on the DSM side was finalized or if, in fact, the 14 percent was even contemplated.  So we didn't have that precedent, if you will.  


And, again, I don't believe that anybody believed that 30 percent has some magic to it.  We ‑‑ what we wanted to do was develop a program that would be available to a fair number of participants, that would have some accessibility to a fair number of participants.  And just in order to get the 1,100 participants that are listed here, that's the amount of budget that would have been required.


So, in fact, in some ways it was just balancing what the reach of the program could be against what the costs would be, and it ended up being approximately 30 percent.


MR. KAISER:  Mr. Buonaguro.


MR. BUONAGURO:  So that means that ‑‑ this is your proposed budget, which is 925 -- 925,000, which is about 30 percent.


You're proposing now to have a floor of 14 percent, which is about half.  So the only ‑‑ that's around $450,000, and on top of that, it appears that fuel switching is going to be cut from 3 million to some lesser number.  So the low income, by definition, would go down to something below, so around 300,000 or less, depending on how much you cut from your fuel-switching budget.


But what you just told me is to get a reasonable program, you estimated that you needed about $1 million, which has no relationship to percentages.  Does that reasoning sound right?


MS. SQUIRES:  The thinking that took place was on the assumption that we would get the budget that's being proposed.  Without knowing what the new budget is going to be, what we're suggesting is that we are willing to commit to a floor, and, as Mr. Ryckman described, that we want to put out some reassurance that we will not leave the low‑income sector or take the low‑income sector out of the portfolio entirely.


It would be a floor, and we could conceivably spend more than the 14 percent in order to get the greatest reach possible in the program.


MR. BUONAGURO:  Just, I think, two last questions. 


In terms of floor, you recognize that in trying to match what happened to DSM, there's actually two floors.  One is a $1.3 million floor, absolute floor, which is part of the settlement and is clear on its face.  And if that's greater than 14 percent, then the DSM program spending for low income is guaranteed to be at least 1.3 million, and you're not proposing a similar floor here for the fuel switching?


MS. SQUIRES:  We're not proposing a monetary level for the floor at this point.


MR. BUONAGURO:  So the result of that is that if for some reason the residential fuel-switching program goes down to zero or almost zero, or to some figure below a million, the low‑income fuel-switching program at 14 percent would be zero or negligible?


MR. RYCKMAN:  My recollection of some of the discussions -- and I want to be careful here, but I think on the DSM side we had, perhaps, somewhat of a read on what the potential budget was going to be and be able to look at things in that context.


We don't have that luxury here.  We don't know what our overall budget is going to be.  When it comes to low‑income programs, whether it's 400,000 or it's $900,000, you can see that there's not a tremendous number of participants there. 


So I think it's an area where the utility can't effect social reform in this area and would be a good area to work with the OPA and other organizations to try to effect greater change here.


But the challenge that we have, once again, is, not knowing what the overall budget envelope is, it's impossible for us to make commitments at this point in time, with the exception of the 14 percent that will track as the budget moves.  And if the total residential market program budget became zero, I think that it is correct that the residential low‑income water heating program would be zero, as well.


MR. BUONAGURO:  Thank you.  Those are my questions.


MR. KAISER:  Thank you.  Mr. Millar.


CROSS-EXAMINATION BY MR. MILLAR:

MR. MILLAR:  Yes, thank you, Mr. Chair.  I'll be very quick.


Panel, we have Board Staff 25 in front of you right now.  I guess a clarification question.  We see under the residential market the total program costs are just over $3 million?


MR. RYCKMAN:  Yes.


MR. MILLAR:  Does that include bill inserts, or are bill inserts part of the program, I should ask first?


MS. SQUIRES:  There may be bill inserts as part of 

individual promotions.


MR. MILLAR:  And that would be included in that cost?


MS. SQUIRES:  Yes, it would.


MR. MILLAR:  That would include all marketing 

costs; is that fair to say?


MS. SQUIRES:  Yes, but to be clear, there may be 

bill inserts that come out from the company that are not 

tied to a specific end-use, and that would fall into the 

marketing/communications budget.  But to answer your 

question specifically, if there is a bill insert tied to one of these initiatives it would be included in those program costs.


MR. MILLAR:  Thank you.  Finally, I just want to confirm something.


There has been some discussion regarding whether fuel 

switching is DSM or opportunity development or both.  Can 

you confirm for me that none of your approved DSM budget is being spent on fuel switching?


Or pardon me, none of your fuel-switching budget that 

you're seeking approval for here comes out of your DSM 

money?


MS. SQUIRES:  That's correct.


MR. MILLAR:  Okay.  Thank you very much.


QUESTIONS BY THE BOARD:

MR. QUESNELLE:  Picking up on Mr. Millar's last 

question.  You mention using the DSM program as a platform or a lever to launch some of these programs into fuel 

switching.  How are they costed?  Are they fully 

allocated costs going forward?  Are they incremental 

additions to the program?  


MR. RYCKMAN:  I would have to give some thought and 

consideration to that.  When you say fully allocated, are we charging --


MR. QUESNELLE:  Overhead and what have you, as 

proportioning that out.


MR. RYCKMAN:  -- computer time and all sorts of things to those specific programs?


MR. QUESNELLE:  When we look at program costs 

and --


MR. RYCKMAN:  The program costs that are illustrated in column number 5 --


MR. QUESNELLE:  Yes.


MR. RYCKMAN:  -- are the direct program costs.  So that would not include an allocation for floor 

space, heating, lights, commuter equipment, those 

sorts of things.  It’s strictly 3 million in the case of the residential program, that those are direct program expenses.  Does that help?


MR. QUESNELLE:  It does.  Yes, I think you 

answered the question, that you're basically piggybacking on DSM programs where you can, and the DSM program is fully 

allocated across the overheads.  You would have 

additional costs, basically for education materials, but the visit and the program and the contact with the customer may be for DSM purposes; and then if you have additional costs that you can introduce something, but for fuel switching it happens on an incremental basis?  Am I characterizing that properly?


MR. RYCKMAN:  Yes.  Perhaps I could phrase it this 

way.  That is, the DSM programs and the added load don't 

live in complete isolation, in that as you're promoting 

higher efficiency equipment, hopefully you're increasing the awareness around natural gas.  And hopefully, as people become more aware of natural gas as an option, they choose the high-efficiency option.


On the market development side, we're trying to 

motivate people to make the decision to go with natural gas.  On the DSM side, we're trying to influence their

decision to go with high-efficiency equipment.


MR. QUESNELLE:  I understand.  Okay.  I put it in kind 

of a stark example.  If someone is going on a DSM program and they're interfacing with a customer, and they have a 

pamphlet that is going to suggest something that may be one 

of your growth programs, are there wages in DSM in the 

pamphlet in growth? 


MR. RYCKMAN:  No, we have discrete allocations for O&M 

and for DSM.


MR. QUESNELLE:  They're fully allocated?


MR. RYCKMAN:  Fully allocated I'm struggling with.  I'm not an allocation expert, as some of the panel members may recall.  The costs are the program costs.  And then the 

office space and the equipment, the lights and those things, would go into our overall revenue requirement, but they're not added onto the program costs as we display them for DSM or for the O&M added to load projects.


MR. QUESNESLLE:  That's fine.  

That satisfies me.  Thank you.  


MR. KAISER:  Mr. Ryckman, just two short questions.  

You have, as we've discussed at length, two of these water-heater fuel-switch programs, one for low-income and one for regular income, I guess.


MR. RYCKMAN:  Yes.


MR. KAISER:  Roughly the same number of participants, a little bit more in the regular income.  The cost of the 

low-income is three times the regular-income.  Is that just 

because there's a greater subsidy in the low-income program?


MR. RYCKMAN:  Yes.  Effectively in the low-income 

program you're paying the full cost of the equipment, 

because the low-income customers would not have that capital available to them.


MR. KAISER:  How do you go about determining who is  

eligible for the low-income, or how do you measure their 

income?


MR. RYCKMAN:  Yes, I'll let Ms. Squires address that.


MS. SQUIRES:  In this particular case, as we've talked 

about, there is a low-income program that has been developed within the DSM framework as well.  And there was a fair amount of discussion about exactly that question in the DSM generic proceeding around the topics of:  How do you identify low-income consumers?  Where do you have your eligibility cutoff?  There are a number of different perspectives on that and viewpoints on those numbers.


What we would propose to do here, as we did in the DSM, is to leverage existing social-program networks and 

infrastructure to identify those customers.  And in fact, we might even leverage the DSM low-income program as well.  If that already has a screening mechanism in place to identify who those low-income customers are, I would hope to leverage that existing mechanism so that we don't have to duplicate a process elsewhere.


MR. KAISER:  Do you think that's going to be 

workable?


MS. SQUIRES:  I hope it will be.  In fact, I think 

that's probably the most optimal way to do that.


MR. KAISER:  Thank you.  Anything further, 

Mr. Millar?


MR. MILLAR:  Unless Mr. O'Leary has anything further, I think that's it for today, and if I understand, we'll be 

commencing again on Friday?


MR. O'LEARY:  No redirect, sir.


MR. KAISER:  Thanks, Mr. O'Leary.  Thank you very much, panel.  Friday, 9:30.


[The panel withdraws]


--- Whereupon the hearing adjourned at 3:51 p.m.
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